SJ

il e

S) AUTOMATION
Company Catalog

Uy,



SJ AUTOMATION Company Cat

CONTENTS

Lo (Y=Y == 5
SUC SErieS VACUUM Lid DOOK wrrwrrsssmesssssssssssessssssesssssssssssssssssssssssssssssssssssssssssssss 5
Vacuum Lid EQUIPMENt (SUC3) wwewrssmermrrmssmssserssssssssssssssssssss s s s 8
Vacuum LidSCrew CYlNEr(SUCA~SUCE) - wsmrrsmmmrrrssimsorssssssssssssssssserss 9
OHTHIET] COOE +rrrreeeeeessessssssssssesssssessessssssssss s s e s 10
DIMNENSION  +reeesreeseesssseesssssssssssssesssseessssssssssssssssssssessssssssssssssisssssesssssnssasssssassss s sssensssssssses 1
ATECAMENT  wrerreesseessseeessssssssssssnssss e ssssss s sss s ssssessssssssssss s sss s sss s sassss st sesssssessasssssnnnes 12
CalcUlation ANd SEIECHION wrwrrssmrersssemesssissssssesssssessssssssssssss s s sssssssssssssssass 13
PrOQUCT COOE  wrerreessmerssssssssssessssseesssssesssssssssssssssssss e ssssesssssssssssssss s sss e sss s sessssss s 14
SCIEW JACK (SUT) s 16
Lo Y= 16
DIMEINISION wresereeesresssesssseeessssssssssssesssseessssssssssssssssssssesssssesssssssssssssesssssesssssssssssssssssssnsssssesses 18
CAlCUIGHIONS  wresrreeessseeessseessssssssssssssssseessssses st sss s sss s sss s sss s sss s sss s sssssssnssns 20
RITIO] ATBIH(NEFF) -ovoovoversesseessssesesssess st s 22
General TECNNICA] Qatg - wwsrrssesserssssersssssssssssssessssesssssssssssssessssesssssssssssssssssssses 23
p R = Y — 24
KZS 1 HHEL R oveeeeeeesesssssseeesessss s e sss s s RS 25
AHLFEIZE ATIE RPTS creveesssesseseeeeeseeesessssses s s s 26
IR B [JE KGE—D) wreeeeeeesessssssseeeeseeesessesssssss s e oo ssssss s s s s ses s 27
ERA|T| 2 [E KGN ereeeeeesssssseeeesessssmsssssssssssss ssssessssssssssss s sessss s sesssssss s sssssssssas 28
QUES] 2 [JE KGIM=D) rreereeeesessssssssssesssesss esssessssss s e st s e 29
QUES 2 [JE KGMoN erveeressssssssssss s 30
AHLFEIZE ATIE coereeeeeemesmssss s s R 31
AHDFEIZR [ woeeeeeeeeeessessssss s e e e R 32

e . \

978 __I_l% e 34
% éa_ﬁ_ .............................................................................................................................. 35
DL J|0 ATIE T AJAEL corveeeremssesssmsisesse e 36
Spiral Bevel Gear BOXES (BG) - wrmrrmmmssmemssrsos s 38
T oo R 40
;1_75'651&! ................................................................................................................................. A1
Dimension of type PN e 42
Lo I RO LR Y A ————— 44
DIMENSION OF tYPE DR weeeeseeeessseessssesssssssssess s s oo e 46
Dimension Of type WA s 48
DHE| AFLLES HJEL JOHEIEA cevessessmssmssssssssssssssnssnssssssssss s 49
QHAFT  cveeeessesssessessessssssssssssssesssss s bbb s bbb bbb bbb 51
HE CJAT AFIE SUWDS vvevvrreerssmmeesssssesmsssmsssssss s sssssssss s s sss s sss s 52
DISK FIEXIDIE SNAFt werrerrrressssmsmmseesesssssssmmssssssssssssssessssssssssssssesssssssssssesssssssssssssesssssssans 53
CONNECHION SNATE  rereeeesessessereeessssssssseessssssssesssessssssssssesssessessssssssssvesssssssnsssessossssans 55
O 1110 1o =) — 57
EAS HHIZEAT| LR[S GEQE! rrereereersereermsrssssssssssssssssss s sssssssssss s 58
%H._I‘%* H.”Hé%hﬁ_jl %l‘_il.:t” 1/2,3,5110 .............................................................................. 60
HHJEHIAIEIT erevesessssessmsssssss e e s s 61
ST HEIZEA J| oevveveeeeeseeeesssssss s ssssssss e ek 62
=1 63
JVL MAC MOTOR #rrreerreenerrssnsnsasns s 64



. SJC series Vacuum
SJ AUTOMATION STORY Lid Door

2014 BHC|AZe 0| Yuatol T3 (HECIAEAILE)
SJWDS 42~100

7074 LGD C{M= OLEDY M2 H FERE

2014 SDS =% OHCV OHS& 152 &

2014 stelgziatet gt

72015 HIS2|2E9| 573} LM
72015 (BAIF) SIT 1XpPHL
72015 ALHHIOE VLA MERE XS

2016 siTetgote b K A

2016 ~ 2016 HexEt] M221EH0] Sglt =

2018 2016 (F138 Zo{HmFX|) SICHL1E 0|2tg
2016 SIMTOS HAIEL
2017 w1z N S

2018 sJTE233x 53
2018 sJcE3 - A0

2019 sJCool 3= ojakg
20719 AINLTEEN

2020 288 27|
2020 IPEYHEZS J|aE37|2

20211509001 + LG Displayst 22

2022 15014001

2022 SJR2| E8i52 - SO 221} CHA R E+8 2| ZE
2027 ClAZ0l #YIHHH S5 - LSS0 tiSok= SA

qization g Q::A;\'\zation Tor
@ a,‘!} o 0 o .

%4 R AR HEI|Y,
ISO. 1ISO: N FEA,

2 £ ) = w &3

52 NI HIX|2HI0|

= S oL|s:
ClAE(0| RSN

9001 14001

SJ AUTOMATION Company Catalog 5 L



SJC series Vacuum _
Lid Door

= EKNFSE A

- - = oy i oq NI =
Door opening and closing device For 1. 5FS0fl 2AIgI0] MEIts
semiconductor and OLED display 2. CHS, HOUZIAT| 2 AFRSH QI STUFAICAl AT ot
manufacturing Facility des Moo st 714
3.A3F, 8 Hgo 23o2 28 F orENel MEe I|s
4. F2 QE - 1o} 2| SHEH0] HE AL
5. LidE oot BE2 2237t
6. A HX| ASTHK| - /1= /H|E2| XAz}
= Description
1. 280| Z0[SHX| Gt
2. 7|&=0l20| =T} SIX| Qotof ot
3. H|012t 7| Al M=2I1=0| X|HE|7| o=
4, BN, HIAEYN|, MAUAN AFEXH I FFEAES ot
2| HHHE M|AI2 t =25t AT CHS0| SMA| E
5. ZEUN|, HIAEYN|, MALHL AFEXH L] RIFEAEZ2 P|oH
AEFo| 2L A7t S0 E0|X| Qf= H|E &

ONONONONONONONONO,

EFSSAt O S
Uy & He ) ey o i i
(1A # @ 9 ¥ Y &
TS2E  dAE Hof T AFME EF 0 ddmer Y AEX
A HAE  OfH 23 2y

SJ v v . .
AUTOMATION . B .
Company -
A7 H%f EYHAE 24 Argxatel
Hof BAE LR e

6 SJ AUTOMATION Company Catalog 7 L



Vacuum Lid Vacuum LidScrew
Equipment (SJC3) Culinder(SJCu4~SJCS)

S wy
//-—

BIE(=0]) 31 XKW
.
-

< 1 S l
\“\).\ -
_—
2|o{ |25 2] = (=04) i‘II* = s 2]o] o=

nEeneg

- <t

S .

8 SJ AUTOMATION Company Catalog 9 L



SOTHNI code

" Product code

NO. Designation Code Discription
1 Size SJC3, SJC4, SJC5
6:1/24:1 for SJC3
2 Ratio 7:1/28:1 for SJIC4
9:1/36:1 for SJC5
. T Trapezoidal screw
Type of spindle K Ball screw
4 Spindle dimension ex. 3205 = diameter 30mm, lead 5mm
5 Stroke
RB Rod end Bearing
. FP Front Pivot including RB
6 Front Pivot FB Front Base
1 According to specification, description or drawing
7 Rear Pivot RP Rear Pivot
0 None
A Shaft end on side LEFT
8 Shaft end B Shaft end on side RIGHT
0 On both side LEFT, RIGHT
) nH Hinge (=123 -)
9 Hinge 0 None
10 Special requirements 0 - o None — -
1 According to specification, description or drawing

Order code example) 2x SJC5- 36- K5010- 522- FP- RP- B- 4HNG-BG3214

= Technical table

SJGC3

Rated power (kN)

25 21.5

33.4 29.7

Size of spindle

Tr 30x6 KGS 32x5

KGS 32x10 KGS 32x20

Gear Ratio

6:1 24:1

241

Efficiency (%)

29 23

43

Input Max torque
(Nm)

18

Bevel ratio

211 ~6:1

Duty

< 10%/ hr

< 30% / hour

Grease

GS-Golden pearl 2

For ball screw

SJCu

Rated power (kN)

50 23.8

38 333

Size of spindle

Tr 40x7 KGS 40X5

KGS 40X10 KGS 40X20

Gear Ratio

71 28:1

28:1

Efficiency (%)

26 21

43

Input Max torque
(Nm)

38

Bevel ratio

211 ~6:1

Duty

< 10% / hr

< 30% / hour

Grease

GS-Golden pearl 2

For ball screw

SJCS

Rated power (kN)

100

68.7 60

Size of spindle

Tr 55x9

KGS 50X10 KGS 50X20

Gear Ratio

9:1 36:1

9:1 36:1

Efficiency (%)

24 19

47 37

Input Max torque
(Nm)

93

Bevel ratio

2:1~6:1

Duty

< 10% / hr

< 30% / hour

Grease

GS-Golden pearl 2

For ball screw

10

Dimension

0]
+
9 W
+| X
uf O
B1 ¥l o
B2 g =
o W
—
w
a b e |
Tr 30x6 265 284 226 |
KGS 25x05 201 217 166
sJc3
KGS 25x10 214 233 179
KGS 25x20 214 233 179 o 9
+ +
Tr 40x7 371 392 313 of ul ul
+ X é
KGS 40x5 355 376 297 w 9 b
Sic4 X M H
KGS 40x10 369 390 311 8 n v
KGS 40x20 378 399 320 o
Tr 55x9 550 562.5 444
SIC5 | KGS 50X10 448 560.5 442 — —
KGS 5020 448 560.5 442
SIZE Al A2 A3 A4 B1 B2 B3 D1
e 106 130 54 45 105 81 195 16
sic4 150 180 78 63 145 115 240 20
el 166 200 83 71 165 131 300 25

SJ AUTOMATION Company Catalog




Attachment

Calculation and
Selction

= Aligning base plate - ABP

= Front Base - FB SJc3 SIC4 SJC5
Zd a 345 43 55
b 175 22 30
] c 42 57 85
d 90 110 150
e 9 1 17
ge f 70 85 117
= Rod end bearing - RB Qe
ad sJc3 Sic4 SJC5
] a 345 43 55
b 17.5 22 30
(i c 42 57 85
d 90 110 150
9 e 9 1 17
f 70 85 117
Lb_|
= Front Pivot including RB - FP SIC3 SIC4 SIC5
. a 60 90 135
T b 90 135 203
40 | C 90 135 203
- o 4 d 120 180 270
e 11 16.5 22
E% — 7 f 14 21 31.5
g 41 61.5 92.5
° S| h 29 435 65
» Rear Pivot - RP
SJC3 SJC4 SJC5
: P a 90 110 110
=7 b 25 30 35
- - c 20 30 30
1 11 iR d 77.5 95 92.5
: e 50 58 60
f 135 168 180
L= - g 165 215 225
hig | S h 205 265 285
| - i 195 255 275
- . ] 25 30 30
— — k 13 18 18
& o | 11 13 21
| — m 170 225 245
[P | et
= Hinge
SJC3 SJC4 SJC5
—o— o a 60 80 120
] @h] b 30 40 60
s c 90 120 180
i d 42 62 90
.
c e 35 47 70
— L ] f 25 335 50
24 (@) ] g 80 108 161
I h for M10 for M10 for M12
i 30 40 60
0 0 0 6——¢h ] 15 25 40
k 120 160 240
. [ 145 194 290

12

= Calculation and Selction

1. Cylinder Sizing about only Tilting movement including hinge

FIXL < F2X 12 => ZEXLL ysf <2 (AZIE 22 Rated power kN) * Safety factor : > 2.0

= Symbols

s = dynamic load m = weight

F (kN)

F1 =mxg g =9.8 m?/s

F2 = AM2IE 88 (Rated power kN) L1 = HingeM|A LID A SA7IX| AHzE|

Sf Safety factor L2 EF719| Pivottt HingeZt WM AHz|

= Ratio and Reducer Sizing

RPM = revolutions/min at the worm s (mm) = spindle lead

i = worm gear reduction ib = bevel gear reduction
_RPM s
60 xjxib =

= Motor Sizing

F (kN) = dynamic load s (mm) = spindle lead

i = worm gear reduction n(total) ib = bevel gear reduction
= Efficiency of the system M SfP = factor for spindle load torque
= Motor torque = Power rating
M = {(Fxs)xSf} /(2x & xixibxn) P= (M xn)/(9550)

Driving power p- Mx* RPM

9550

" Temperature and Duty

At an ambient temperature higher than +20c the operating factor must be reduced in correspondence with the following table.

Ambient temperature ( ° ) 50 60 70 80
max. permissible Duty (%/h) 18 15 10 5
max. permissible Duty (%/10min) 27 22 15 8

% Redesign available on request

SJ AUTOMATION Company Catalog 13



Product code /

7

" Product code

NO. Designation Code Discription
1 Size SIM3, SIM4, SIM5
6:1/24:1 for SIM3
2 Ratio 7:1/28:1 for SUIM4
9:1/36:1 for SIM5
. T Trapezoidal screw
Type of spindle K Ball screw
4 Spindle dimension ex. 3205 = diameter 30mm, lead 5mm
5 Stroke
RB Rod end Bearing
. FP Front Pivot including RB
6 Front Pivot FB Front Base
1 According to specification, description or drawing
7 Rear Pivot RP Rear Pivot
0 None
A Shaft end on side LEFT
8 Shaft end B Shaft end on side RIGHT
0 On both side LEFT, RIGHT
) nH Hinge (=123 -)
9 Hinge 0 None
10 Special requirements 0 - o None — -
1 According to specification, description or drawing

Order code example) 4 x SIM3- 24 -K2510-250-1-0-0-0-0

= Technical table

SIM3

Rated power (kN)

25

215

33.4 29.7

Size of spindle

Tr 30x6

KGS 32x5

KGS 32x10 KGS 32x20

Gear Ratio

6:1 24:1

6:1

2411

Efficiency (%)

29 23

55

43

Input Max torque
(Nm)

18

Bevel ratio

211 ~6:1

Duty

< 10% /hr

< 30% / hour

Grease

GS-Golden pearl 2

For ball screw

SIM4

Rated power (kN)

50

238

38 333

Size of spindle

Tr 40x7

KGS 40X5

KGS 40X10 KGS 40X20

Gear Ratio

71 28:1

71

28:1

Efficiency (%)

26 21

53

43

Input Max torque
(Nm)

38

Bevel ratio

211 ~6:1

Duty

< 10% /hr

< 30% / hour

Grease

GS-Golden pearl 2

For ball screw

SIMS

Rated power (kN)

100

68.7

60

Size of spindle

Tr 55x9

KGS 50X10

KGS 50X20

Gear Ratio

9:1 36:1

9:1

36:1

Efficiency (%)

24 19

47

37

Input Max torque
(Nm)

93

Bevel ratio

2:1~6:1

Duty

< 10% /hr

< 30% / hour

Grease

GS-Golden pearl 2

For ball screw

14

= HOIEtIE N H01RS EA3RE SJT Series

ALICHING CAR

ofoj ofgmE 7

SJ AUTOMATION Company Catalog 15



Screw Jack (SJT)

=" Product code

16

NO. Designation Code Discription
1 Maker SJ
T Traveling Screw
2 Design
R Traveling Nut
30
3 Size 40
55
1:05 Fast
4 Ratio 1:10 Normal
1:30 Slow
T Trapezoidal screw
5 Type of spindle K Ball screw
KH High load ball screw
6 Spindle dimension ex. 3205 = diameter 30mm, lead 5mm
7 Stroke Specification of the stroke length
8 Thread length Thread length at full stroke
NP Nut plug for grease inlet for ball screw
9 Grease Nipple
0 None for Tr screw
0 None
10 Spindle cover BL With bellows
SC Spiral cover
0 None
11 Spindle end BP With Base Plate
ABP With Aligning Base Plate
0 None
12 Anti-unscrewing device
AS Stop collar
A Shaft end on side LEFT
13 Shaft end B Shaft end on side RIGHT
0 On both side LEFT, RIGHT
0 None
14 Special requirments
1 Screw end machining and other on request

SJT40-1:10-KH40X20-140-290-NP-BL-ABP-AS-0-1

=" Preselection table

SJT/SJR20

SJT series

Rated power (kN) 10 10.5 11.6
Size of spindle Tr 20x4 KGS 20x05 KGS 20x20
Gear Ratio 1:5 \ 1:105 | 1:30 1:5 \ 1:10.5 \ 1:30
Efficiency (%) 0.32 \ 0.29 \ 0.21 0.6 \ 0.51 \ 0.36
Max driving torque in
input shaft (Nm) A
Grease NEFF GREASE 2, NEFF FOOD GREASE 2 NEFF Grease 2/3, Agip GR SLL 00, AFF
Relubrication cycle Dozens times Min. 3months
Relubrication position Tr screw Nipple to inlet to Ball nut
Rated power (kN) 25 33.4 29.7
Size of spindle Tr 30x6 KGS 32x10 KGS 32x20
Gear Ratio 1:5 1:10 1:30 1:5 1:10 1:30
Efficiency (%) 0.32 0.27 0.19 0.6 0.51 0.36
Max driving torque in
input shaft (Nm) 18
Grease NEFF GREASE 2, NEFF FOOD GREASE 2 NEFF Grease 2/3, Agip GR SLL 00, AFF
Relubrication cycle Dozens times Min. 3months
Relubrication position Tr screw Nipple to inlet to Ball nut
Rated power (kN) 50 38 [ 33.3
Size of spindle Tr 40x7 KGS 40x10 \ KGS 40x20
Gear Ratio 1:5 1:10 1:30 1:5 1:10 1:30
Efficiency (%) 0.29 0.26 0.19 0.6 0.51 0.36
Max driving torque in 38
input shaft (Nm)
Grease NEFF GREASE 2, NEFF FOOD GREASE 2 NEFF Grease 2/3, Agip GR SLL 00, AFF
Relubrication cycle Dozens times Min. 3months
Relubrication position Tr screw Nipple to inlet to Ball nut
Rated power (kN) 100 68.7 [ 76
Size of spindle Tr 55x9 KGS 50x10 \ KGS 50x20
Gear Ratio 1:5 [ 1:10 [ 1:05 [ 1:10 [ 1:30
Efficiency (%) 0.26 \ 0.22 \ 0.6 \ 0.51 \ 0.36
Max driving torque in 93
input shaft (Nm)
Grease NEFF GREASE 2, NEFF FOOD GREASE 2 NEFF Grease 2/3, Agip GR SLL 00, AFF
Relubrication cycle Dozens times Min. 3months
Relubrication position Tr screw Nipple to inlet to Ball nut
Rated power (kN) 200 76 [ 130 *
Size of spindle Tr 70x10 KGS 63x10 \ KGS 63x20
Gear Ratio 1:5.2 [ 1:10 [ : 1:5.2 1:10 [ 1:30
Efficiency (%) 0.23 \ 0.21 \ 0.14 0.6 0.51 \ 0.36
Max driving torgue in 148

input shaft (Nm)

Grease

NEFF GREASE 2, NEFF FOOD GREASE 2

NEFF Grease 2/3, Agip GR SLL 00, AFF

Relubrication cycle

Dozens times

Min. 3months

Relubrication position

Tr screw

Nipple to inlet to Ball nut

SJ AUTOMATION Company Catalog

17



18

[}

=| = /I//',d_ \": i -u:f
| | .
@ Rl -
= I.D ! }
- 1
Size A B C D D D2 D3 D4 E F1 F2 F3 Fé4 G H U
18 | 118 | 70 - 9 | 183 | 30 - - | M4x8 | M10 | 85 - 50 50 25 75
20 | 150 | 100 - 12| 20x4 | 44 52 - | M4x8  M10 | 85 | M5x10| 70 70 35 | 110
30 | 206 | 126 - 20 | 30x6 | 60 68 - | Méx12| M12 | 105 | Méx12| 90 90 45 | 140
40 | 270 | 160 - 25 | 40x7 | 69 70 70 | M8x16| M14 | 125 |M8x16| 120 | 120 | 60 | 190
55 | 270 | 170 - 25 | 55x9 | 90 70 90 |M8x16| M20 | 175 |M8x16| 150 | 150 | 75 | 230
70 | 350 | 230 - 30 | 70x10 | 120 | 74 | 120 |M10x18| M30 | 265 |M8x15| 176 | 176 | 88 | 256
80 | 350 | 230 - 30 |80x10| 120 | 74 | 120 |M10x18| M30 | 265 |Msx15| 176 | 176 | 88 | 256
*=MODEL SJR
i
o o M
- ) G
f== —— o -
/f' "3"-\\‘
== I,l'|l- A s ,

TEo R = e

W e /-‘ (LIl fil

N/ = |
& O T O HE
Size K | J L M N 0 P R s 1 T2 T3 a CH
18 29 30 56 24 94 80 7 7 15 - 10 15 - - 3x3x15
20 | 325 | 30 80 25 | 100 | 8 | 75 10 15 4 20 20 - 45° 4x4x20
30 45 50 | 102 | 40 | 155 | 131 12 12 20 4 25 25 - 45° 6x6x30
40 50 70 | 130 | 55 | 195 | 165 | 15 15 25 5 35 35 7 30° 8X7x40
55 63 70 | 134 | 50 | 211 | 175 | 18 18 30 6 40 40 10 | 60° 8X7x40
70 75 90 | 180 | 60 | 280 | 230 | 25 25 45 6 40 40 10 | 60° 8x7x50
80 75 90 | 180 | 60 | 280 | 230 | 25 25 45 6 40 40 10 | 60° 8x7x50

= Al cover

CORSA + L1

S

= BP - Base Plate

D4

D5

NAFIRID 6

=

4,-9D3

4-D4

L
L2

SJT30 SJT40 SJT55
D2 65 69 95
L1 45 45 55

SJT30 SJT40 SJT55
D4 89 109 149
D5 67 85 117
D6 11 13 17
D7 46 60 85
L4 10 15 20
L5 23 30 50

SJT30 SJT40 SJT55
D1 90 110 130
D2 70 85 100
D3 9 12 14
D4 M8 M10 M12
L1 17.7 22 30
L2 34.4 43 55

SJ AUTOMATION Company Catalog

19



Calculations

* Formular = SJR - Tupes of bearing Bearing case I11

1 _
F, = %* 10° /1000 F, = F,* f * § Fixed bearing — movable bearing, correction factor f,=2,05 /f_=1.89

= Sumbols B »
Example 2) SJR55-1:30-T55x09-1100-1716-0-0-0-0-0-FK30 F, = # x*10°% /1000 = 18(')02 x105 /1000=111.53 [kN]

Fk - Theoretically critical buckling force in [kN] Screw : Tr55x09 d2: 436 1 1

' Length : 1800 W: 1800 Fau =Fi * fi » & =111.53 % 2.05 %= =114.31 [kN]
Fzul - Maximum permissible axial force in [kN] S ) f 2
fk : Correction factor that takes into account

the type of spindle bearing
dz . Core diameter of the spindle [mm]
L, : Unsupported length on which the force acts
k PP g Example 3)

on the spindle [mm]
SJR40-1:30-T40X07-1032-1701-0-0-0-0-0-FK25
Sf: Safety factor (specified by the user)

Specification of equipment :

Weight : 6,000 kg

= SJT - Tupes of bearing Bearing case I Sooags
Fixed bearing — loose end, correction factor f,=0,25 / f, =0.43 Fyx =Weight * 9.8 m/s? = 6,000 kg * 9.8 = 58,800 N
P= 7 mm
— n = 0.19

Required drive torque [Nm]

Fay #P _ 58,800 7
2000 * TT*Mg *1 2000 *3.14 %*0.19 *30

Mg = =11.49 Nm

Required drive power [KW]

Example 1) SJT40-1:10-T40X07-640-750-NP-BL-ABP-AS-0-1 g = d_z‘: £105 /1000 = 25 4 105 /1000 = 106.84 [KN]
Lk

9002

_ Mgxn _ 11.49%2000 _
Screw : Tr 40x07 d2: 305 1 1 o= s ™ om0 - 2.4 kW
Length : 900 mm Lk: 900 Fpy =Fj * fy x —=106.84%0.25%-=13.36 [kN]

20 SJ AUTOMATION Company Catalog 21 L



General

= 10| AZEEY ;
(NEFF) | Technicaldata

Worm Gear Screw Jacks

= N type = Trapezoidal screw

" RE
ype
MO M1 M2 M3 M4 M5 J1 J2 J3 J4 J5
HE i i " "
1_ bOdy © X|- 96 . Maximum lifting capacity[kN]1) 25 5 10 25 50 100 150 200 250 350 500
Worm 7|0 ALO|= oil g8
n 0.1 B (20 ~ 135mm) _4\_751%5—? Bushing Screw diameter and lead[mm] 14x4 18x4 20x4 30x6 40x7 55x9 60x9 70x10 | 80x10 | 100x10 | 120x14
~ Stroke in mm per full turn of Ratio H 2) 1 1 1 1 1 1 1 1 1 1 1
E =] // 0.1 A
Flange HE T2 the drive shaft[mm] RatioL2) | 0.25 0.25 0.25 0.25 0.25 0.25 0.25 0.25 0.25 0.25 0.25
(DIN & Neff)
Ratio H 2)
Gear ratio
Ratio L 2)
Ratio H 2) 35 31 29 29 26 24 23 22 20 19 19
Efficiency[%] 3)
Ratio L2) 27 25 23 23 21 19 18 17 15 15 15
Weight [kg] (zero stroke) 0.6 1.2 2.1 6 17 32 41 57 57 85 160
WEB 2,5_X-| El : Weight [kg per 100 mm stroke] 0.1 0.26 0.42 1.14 1.67 3.04 3.1 4.45 6.13 79 11.5
X
IPA EX| = Idling torque [Nm] H 002 | 004 011 | 015 | 035 084 | 088 | 128 | 132 | 162 & 198
Otz CHO| T
AFF) Ni =5 Al OF=C}O|E Tube L 0.016 | 0.3 0.1 012 | 025 | 051 | 057 | 092 | 097 1.1 1.42
R EP (224 Ts)
Housing material G-AL GGG-40
Housing M CAP
: Al, Iron casting, Stainless steel
' ' = Ball
all SCcrews
SAAF lead BEE HETY TrA3R Llead BE2EE MO M1 M2 M3 M4 M5 3
X T7 (<52um/300m) 50~300um/300mm
TR E : 0.05mm/m < <500mm FE T 0.1~0.5mm/300mm Maximum lifting capacity[kN] 1) 2 5 10 125 22 | 42 65 78
0.08mm/m « <500~1,000mm aZto] 2 Self Lock
Screw diameter and lead[mm] 1205 1605 2005 2505 4005 | 4010 5010 8010
Stroke in mm per full turn of Ratio H 2) 1.25 1.25 1.25 0.83 0.71 1.43 1.1 1
the drive shaft[mm] Ratio L 2) 0.31 0.31 0.31 0.21 0.18 | 0.36 0.28 0.25
Ratio H 2) 4:01 4:01 4:01 6:01 7:01
Gear ratio
Ratio L 2)
Ratio H 2) 60 57 56 55 53 56 47 45
Efficiency[%] 3)
Ratio L 2) 48 46 44 43 43 45 37 34
Weight [kg] (zero stroke) 0.6 1.3 2.3 7 19 35 63
Weight [kg per 100 mm stroke] 0.09 0.26 0.42 1.14 1.67 3.04 6.13
Idling torque [Nm] H 0.02 0.04 0.11 0.15 0.35 0.84 1.32
L 0.016 0.03 0.1 0.12 0.25 0.51 0.97
Housing material G-AL GGG-40

SJ AUTOMATION Company Catalog 23

22



A& BTN,V A& HER

C2 Cd4, Hulzhukb E2 C3

B

=) C Cl

Ll4mndl e Seite)

| T T
Logerdecksl- B | R

Sete
DDé ) (@

i

-.:-"-_i_.ﬂ:Fxr:.'t.::- A_"

]

_T | 7 H
T ]
- —
- B < | JL
9 3 . B -
~ = bl o]
Al 2 b A b - - -
= & O, _
gl 3l = i | o | [ | L T
D = '-_-_ ? H-Hsk:"i_l“__:l:ls'r:l"_-':“_-'ere angeben
= A
al @ m D D [ké) | ‘
- @ D7 [H7)
@07 M|
Type Dimensions(mm) Type Dimensions(mm)
A1l A2 A3 al a2 B1 B2 B3 B4 b1 b2 b3 b5 C1 Cc2 C3 A1l A2 A3 al a2 B1 B2 B3 B4 b1 b2 b3 b4 b5 C1 Cc2 C3 C4 Cc6
MO 60 20 18 48 6 21 50 92 52 38 14 3 15 20 50 27 MO 60 20 18 48 6 21 50 92 52 38 14 3 12 1.5 20 50 27 12 25
M1 80 25 24 60 10 24 72 120 77 52 18 3 15 20 32 35 M1 80 25 24 60 10 24 72 120 77 52 18 3 13 1.5 20 32 35 12 31
M2 100 32 28 78 11 27.5 85 140 90 63 20 5 1.5 30 75 45 M2 100 32 28 78 11 27.5 85 140 90 63 20 5 15 1.5 30 75 45 18 375
M3 130 45 31 106 12 45 105 195 110 81 36 5 2 35 82 50 M3 130 45 31 106 12 45 105 195 110 81 36 5 15 2 35 82 50 23 41
M4 180 63 39 150 15 475 145 240 150 115 36 6 2 40 117 65 M4 180 63 39 150 15 475 | 145 240 150 115 36 6 16 2 40 117 65 32 58.5
M5 200 71 46 166 17 67.5 165 300 170 131 56 8 2.5 55 160 95 M5 200 71 46 166 17 67.5 | 165 | 300 | 170 | 131 56 8 30 2.5 55 160 95 40 80
J1 210 71 49 170 20 65 195 325 200 155 56 8 8 55 175 95 J1 210 71 49 170 20 65 195 | 325 | 200 | 155 56 8 40 8 55 175 95 40 87.5
J2 240 80 60 190 25 67.5 220 355 225 170 56 8 8 60 165 110 J2 240 80 60 190 25 67.5 | 220 | 355 | 225 | 170 56 8 45 8 60 165 | 110 40 82.5
J3(M6) 240 80 60 190 25 67.5 220 355 225 170 56 8 8 60 165 110 J3(M6)| 240 80 60 190 25 675 | 220 355 225 170 56 8 45 8 60 165 110 40 82.5
J4M7) | 290 100 65 230 30 65 250 380 255 190 56 10 8 65 220 140 J4M7)1 290 | 100 65 230 30 65 250 | 380 | 255 | 190 56 10 54 8 65 220 | 140 50 110
J5(M8) | 360 135 75 230 35 100 300 500 305 230 90 14 8 100 266 200 J5(M8)| 360 | 135 75 230 35 100 | 300 | 500 | 305 | 230 90 14 80 8 100 | 266 | 200 60 133
Type Dimensions(mm) Type Dimensions(mm)
C4 C5 C6 D1k5 D2 D3 d4 D4Tr D4KGT D5 D6 D7H7 D8 D9 x b6 | TKOR D1k6 | D2j6 D4TR D4KGT D5 D6 |D7H7| D8 D9 x b6 OR E1 [E2 F1 F2 F3 F4
MO 12 12 25 9x20 28 M8 12 Tr14x4 1205 26 M6 22 10 | (M5x6)* 24 MO 9x20 8 Tr14x4 1205 26 M6 22 10 M5x6* 24 12 35 48 28 38 6
M1 12 19 31 10x21.5 32 M12 13 Tr18x4 1605 30 M8 32 12 M5x6 32 M1 10x21.5] 12 | Tr18x4 1605 30 M8 32 12 (M5x6)* 32 12/12 | 44/44 | 48/48 | 28/28 | 38/38 6/6
M2 18 20 37.5 14x25 40 M14 15 Tr20x4 2005 38.7 M8 35 15 M6x10 35 M2 14x25 | 15 Tr20x4 2005 36.1 M8 32 15 M6x10 35 12/12 | 44/44 | 55/55 | 32/32 | 45/45 7/7
M3 23 22 41 16x42.5 50 M20 15 Tr30x6 2505 46 M10 40 17 M8x10 44 M3 16x42.5| 20 Tr30x6 2505 46 | M10| 40 17 M8x10 44 14/14 | 46/46 | 62/62 | 38/38 | 50/50 717
M4 32 29 58.5 | 20x45 65 M30 16 Tr40x7 |4005/4010 60 M12 52 25  |M10x14 55 M4 20x45 | 25 | Tr40x7 |4005/4010| 60 | M12| 52 25 | M10x14 55 16/16 | 73/59 | 95/80 | 63/53 | 78/68 9/7
M5 40 48 80 25x65 90 M36 30 Tr55x9 5010 85 M20 62 28 |M12x16 70 M5 25x65 | 40 | Tr55x9 5010 85 | M20 | 62 28 | M12x16 70 18/18 | 97/97 [110/110 72/72 | 90/90 | 11/11
J 40 48 87.5 |25x62.5 95 M48x2 40 Tr60x9 - 90 M24 72 28 M12x16 70 J 25x62.5| 45 Tr60x9 - 90 | M24| 72 28 M12x16 70 20 99 125 85 105 11
J2 40 58 82.5 | 30x65 110 M56x2 45 Tr70x10 - 105 M30 80 32 |M12x18| -80 J2 30x65 | 55 | Tr70x10 - 105.2 | M30 | 80 32 | M12x18 -80 30 100 180 95 140 17
J3(M6) 40 58 82.5 | 30x65 125 M64x3 45 Tr80x10 8010 120 M30 80 32 |M12x18| -80 J3(M6) | 30x65 | 60 | Tr80x10 8010 120 | M30 | 80 32 | M12x18 -80 | 30/22 [110/101190/145105/105 150/125 17/14
J4(M7) 50 78 110 | 35x62.5 150 M72x3 54 Tr100x10 - 145 M36 85 40 M16x30 -80 J4(M7) |35x62.5/ 80 |Tr100x10 - 145 | M36 | 85 40 M16x30 -80 35 130 240 130 185 25
J5(M8) 60 118 133 48x97.5| 180 | M100x3 80 Tr120x14 - 170 M42 90 50 |M16x40| -115 J5(M8) |48x97.5/ 95 |Tr120x14 - 170 | M42 | 90 50 | M16x40 -80 40 160 300 160 230 28

24 SJ AUTOMATION Company Catalog 25



ACEEIE A3

=8 A3 KGS = DIN 690512 =01l TIE UE

1 LN N, T o W M e R L e N o N N e M e M o, MR
B LI'C-— - \}, o LID - '%" T
= o i T‘II =3
°lZ|” / 19 8 ° s
) S A - | [ ! Elc?tlfern‘-
Frm l.l;- Q_l
R | IQ ; | 'ffalsrq 5
B | o N I[ 1 ] ,t:||3|N
L = ‘ £0051
= ‘= R i
i€ M= = A3 KGS L !
"LEARSH: TS 22 (MEot 20t i -t
= 2| = (pitch) : 71Z : 5~50mm 2l ol
S ol :
"LEAMA: Q2 AT 2 KGS 2005 + 3205 1% AHE - ] | o
" ZIXIE : L <500 MM : 0.05 mm / m & - i i
L = 500-1000mm : 0.08 mm / m B e 2
Flanged
L>1000mm : 0.1 mm/ m form
s}
"XAJ|&E 1 12-63mm O

"LfARME11-5

* 20| : EZ : 5,600mm, KGS 1205 : 2,000mm
Q% Ol QE& AT 1 KGS 2005 + 3205

" 2L 7HS 0o QFof St EEILICEH

"Xl 111213 (CF 53) = E=f EA2| 3 ¢iof, A3R 2H 28 = 715 (Kt EX2))

Material - 1.7131 (ESP65) or 1.3505 (100 Cr 6).

Type Diameter[mm] Accuracy Dimensions(mm] Distributed Plaﬁla?'nr:weotr?;ar:tof Moment =] K|z~ [mm] 84 55 [[kn]
Lead[mm] class loadWKGS ) : ofresistance 1) =2 [mm] =3 LEAF
; do d1 d2 L max. inertialy BIC oo S
Right hand thread [um/300mm] [kg/m] [103 mm3] alc S | &E ot AbA
[10% mm#] |Z [mm] HEH D |ER | A
= 1 D4 Ds Ds L1 L2 Le L7 Ls Lo Lo Cc2 cd Co-Coa
KGS-1205 50 12 1.5 10.1 2000 0.75 0.051 1.101 Q2 LAt G
KGS-T605 50 16 155 129 5600 1.26 0.136 0.211 KGF-D1605RH-EE | E | 1 | 28 | 38 | 55 | 48 | 10 | 42 - 10 | 40 | 10 | 5 M6 3 12 93 | 131
KGS-1610 50 16 15.4 13 5600 1.26 0.14 0.216 : : :
KGS-2005 50 20 195 16.9 5600 204 0.4 0.474 KGF-D 1610 RH-EE E 1 28 38 55 48 10 55 - 10 40 10 5 M6 6 23 15.4 26.5
KGS-2020 50 20 19.5 16.9 5600 2.04 0.4 0.474 KGF-D2005RH-EE | E | 1 | 36 | 47 | 66 | 58 | 10 | 42 - 10 | 44 | 10 | 5 M6 3 14 | 105 | 16.6
KGS-2050 50 20 19.1 16.5 5600 2.04 0.364 0.441 KGF-D 2505RH-EE | E | 1 | 40 | 51 | 66 | 62 | 10 | 42 - 10 | 48 | 10 5 M6 3 15 123 | 225
KGS-2505 50 25 24.5 219 | 5600 333 1129 1.031 KGF-D2510RH-EE | S | 1 | 40 | 51 | 66 | 62 | 16 | 55 - | 10 48 | 10 | 5 | M6 3 | 175 | 132 | 253
KGS-2510 >0 = 24.5 21.9 2600 333 1129 1.031 KGF-D2520RH-EE | S | 1 | 40 | 51 | 66 | 62 | 4 | 35 | 105 | 10 | 48 8 5 M6 4 19 13 | 233
KGS-2520 50 25 246 22 5600 3.33 1.15 1.045 : : :
KGS-2025 50 25 245 22 5600 3.33 115 1.045 KGF-D 2525 RH-EE S 1 40 51 6.6 62 9 35 8 10 48 8 5 M6 5 21 16.7 32.2
KGS-2550 50 25 24.1 215 5600 3.33 1.049 0.976 KGF-D2550RH-EE | E | 1 | 40 | 51 | 66 | 62 | 10 | 58 10 10 | 48 | 8 5 M6 5 225 | 154 | 317
KGS-3205 50 32 315 28.9 5600 5.63 3.424 2.37 KGF-D3205RH-EE | E | 1 | 50 | 65 9 80 | 10 | 55 - 12 | 62 | 10 6 M6 5 24 | 215 | 493
KGS-3210 S0 32 327 273 | 5600 563 2.727 1.998 KGF-D3210RH-EE | E | 1 | 53 65 | 9 80 | 16 69 | - | 12 62 | 10 6 |M8x1| 3 44 | 334 | 545
KGS-3220 >0 = 3.7 27.9 2600 263 2974 2132 KGF-D3220RH-EE | E | 1| 53 | 65 | 9 | 80 | 16 | 80 - 12 | 62 | 10 | 6 M6 4 425 | 29.7 | 59.8
KGS-3240 50 32 30.9 283 5600 5.63 3.149 2.225 : : :
KGS-4005 50 40 395 36.9 5600 9.01 9.101 4.933 KGF-D 4005 RH-EE E 2 63 78 9 93 10 57 - 14 70 10 7 M6 5 26 23.8 63.1
KGS-4010 50 40 39.5 34.1 5600 8.35 6.737 3.893 KGF-D4010RH-EE | E | 2 | 63 | 78 | 9 | 93 | 16 | 71 - 14 | 70 | 10 | 7 | M8X1 3 50 38 | 69.1
KGS-4020 50 40 39.7 359 5600 9.01 8.154 4.542 KGF-D 4020RH-EE | E | 2 | 63 | 78 9 93 | 16 | 80 - 14 | 70 | 10 7 | M8X1 4 445 | 333 | 76.1
KGS-4040 50 40 38.9 363 | 5600 9.01 8.523 4.696 KGF-D404ORH-EE | S | 2 | 63 | 78 | 9 | 93 | 16 8 | 75 | 14 - | 10 | 7 |M8x1| 8 42 | 35 1019
KGS-5010 20 20 49.5 44.1 2600 135 18.566 8.42 KGF-D5010RH-EE | E | 2 | 75 | 93 | 11 | 110 16 | 95 - 16 | 85 | 10 | 8 | M8X1 5 78 | 68.7 | 155.8
KGS-5020 50 50 495 44.1 5600 135 18.566 8.42 : :
KGS-6310 50 63 62.5 57.1 5600 22.03 52.181 18.28 KGF-D 5020 RH-EE E 2 85 103 11 125 22 95 - 18 95 10 9 M8X1 4 82 60 136.3
Left hand thread 21 LEA
KGS-2005 LH 50 20 19.5 16.9 5600 2.04 04 0.474 KGF-D2005LH-EE | E | 1 | 36 | 47 | 66 | 58 | 10 | 42 - 10 | 44 | 10 5 M6 3 16.5 | 105 | 16.6

26 SJ AUTOMATION Company Catalog 27



=0OAMEUE

KGF-N

ESELE

KGM-D

*NEFF2S0 TIE UE = DIN 6905101l TI= UE

z ape 1
L1Q % € L1D E: 1 i - ul{' < — 5 —
O i —— o fIa - Hoa o
i O O ) r ¢ -3 R, AL B[P =T
= 3 = = P 1 4 _~Gulg B(FF) =T 1) s '
I & I (5 iy, j P /
s 4 //_. - DM F f Fa
S | rr PN A v , 550 7 ]
e /;«f-"—'-"'i\ Lt / L /
g & o 3| T, "R o f | /
g 9 - — al % - -—18 | —=+ HF— g / /
-] " = \ Ly "-'I.' | = ¥ - F o
= = ! LR d ] / ) o S A 0
\ 53 R &/ I — " o ju - Fy 1,] =
| — | ! s i I . +H - o 3 e 0
= 1 [ == N sy o i B'a Y = 0 - i Q
. : il =i o ]
1 =z ! = s (‘;”;-; o t
el i 1 4 SN ) 5 B -
— Ls | - _.'—;._ P _."'-‘ | T Ly r <. '
L | D3 V4 — '
|- L2 = | L7 i |
LB
Form E Formn § Hole pattern 3 19 10
NEFF standard - |, e |
A | = L2 2
- L i
o3 X|2 [mm] 8265 [[kn]
P R jou Xlq L}A
Material: 1.7131 (ESPBS) or 1.3505 (100 Cr 6). Se XY o
Q—E LAY D Ds L2 Ls Ls Lo BXT a c () Co-Coa
o3 x| [mm] 2 81= [[kn] KGM-D 1605 RH-EE E 28 3 34 7 7 20 5X2 3 12.5 9.3 131
174
= [mm] 2o W KGM-D 1610 RH-EE E 28 3 50 7 15 20 5X2.2 6 23 154 | 265
2|= [mm] 287 | M+
= D1 D4 Ds Ds L L2 Le Ly Lo Lo Cc2 c3 Co=Coa
QE LiA} G KGM-D 2005 RH-EE E 36 3 34 7 7 20 5X2 3 14 10.5 16.6
KGF-N 1605 RH-EE E 28 38 M6 3 12 93 13.1 KGM-D 2505 RH-EE E 40 3 34 7 7 20 5X2 3 15 12.3 225
KGF-N 2005 RH-EE E 32 45 7 55 8 44 - 12 8 6 M6 3 14 105 | 16.6 KGM-D 2510 RH-EE E 40 3 45 7.5 12,5 20 5X2 3 17.5 13.2 253
KGF-N 2020 RH-EE S 35 50 7 62 4 30 8 10 8 5 M6 4 12 | 116 | 184 KGM-D 2520 RH-EE S 40 1.5 35 14 1.5 12 5X3 4 19 13 233
KGF-N 2050 RH-EE S 35 50 7 62 10 56 9 10 8 5 M6 5 18 13 246 KGM-D 2525 RH-EE S 40 1.5 35 11.5 11 13 5X3 5 21 16.7 32.2
KGF-N 2505 RH-EE E 38 50 7 62 8 46 - 14 8 7 M6 3 15 123 | 225 KGM-D 2550 RH-EE S 40 1.5 58 17 19 20 5X3 5 22.5 15.4 31.7
KGF-N 3205 RH-EE E 45 58 7 70 10 59 - 16 8 8 M6 5 24 215 | 493 KGM-D 3205 RH-EE E 50 3 45 7.5 8 30 6X2.5 5 24 215 49.3
KGF-N 3210 RH-EE E 53 68 7 80 10 73 - 16 8 8 | M8X1 3 44 | 334 | 545 KGM-D 4005 RH-EE E 63 3 45 7.5 8 30 6X2.5 5 26 238 63.1
KGF-N 3240 RH-EE S 53 68 7 80 14 45 7.5 16 10 8 M6 4 17 149 | 324 KGM-D 4010 RH-EE E 63 4 60 10 15 30 6X2.5 3 50 38 69.1
KGF-N 4005 RH-EE E 53 68 7 80 10 59 - 16 8 8 M6 5 26 238 | 63.1 KGM-D 4020 RH-EE E 63 3 70 7.5 20 30 6X2.5 4 445 333 76.1
KGF-N 4010 RH-EE E 63 78 9 95 10 73 - 16 8 8 M8X1 3 50 38 69.1 KGM-D 4040 RH-EE S 63 1.5 85 15 275 30 6X3.5 8 42 35 101.9
KGF-N 5010 RH-EE E 72 20 11 110 | 10 97 - 18 8 9 | M8X1| 5 78 | 68.7 | 155.8 2 LA
KGF-N 6310 RH-EE E 85 105 1 125 10 99 - 20 8 10 | M8X1 5 86 76 197 KGM-D 2005 RH-EE E 36 3 34 7 7 20 5X2 3 16.5 10.5 16.6

28 SJ AUTOMATION Company Catalog 29



AICIEIZE A3

15 = UE SOEE AMOIEIE A32E
]
_ = L JzHarxzig|o!
s EZZI0] 3,000mm, @ 20mmoilA| 753t Zi0|&= AT 6,000mmeUL|CE X[ L2 THIEEZ0|YL|CE
P& o o
S g0 Material: 1.0401 (C15).
."l 4
/ 2
f J ‘r
2 i ‘-H'- Fﬂﬁhrbﬁ“ﬁ |||. \mﬁl
I / / \|'|\ || |I"lll||| ||||||l, | ||||\ “\”“|I'”||‘|'|l\l I| \\h\ﬂ“l\ “\I
s / " / [ \ \ || \ \ i \ \ \
s p ‘ "\I \I\l' l'”I l'||” fitH ""H | |\"\ I "M'u u “l\l |\\|\
1] { .- 7 ] | | | ||| || || | I| | \ k [ |
¥ c 2 | - 1 2 n H\JH_H_/ Hu b\u Fq\_.:r\l }J\_r
—f 3 3 T B B AN M|
| s = = 3
rd
t L -
.J ./_f
= i i Straight- Planar
o ) Dimensions[mm] Accuracy | Straig o Moment of
Le R[] Type Diameter[mm] o e . ; Dlstlzssted ——— oment o
= = . Lead[mm] i / [mm/ of inertialy
' . : d | dimin | dimax | d2 | H1 [um mm K/l [
= - L2 Right hand thread 300mm] | 300mm] kg [emé]
= - - RPTS Tr 10x2 10 | 8793 | 8929 | 689 | 1 300 0.5 05 0.011 0.032
RPTS Tr 10x3 8191 | 8415 | 584 | 15| 300 0.5 0.446 0.0057 0.02
Form E Forrm & RPTS Tr 12x3 12 110191 | 104 | 7.84 | 15| 300 05 068 0.019 0.047
o RPTSTr12x6P3 | 12 | 10.165 | 10.415 | 7.84 | 1.5 | 300 0.5 10°18° | 0.62 0.68 0.019 0.047
RPTS Tr 14x3 14 | 12191 | 12415 | 984 | 15| 300 0.5 422" | 042 0.96 0.046 0.094
RPTS Tr 14x4 1164 | 11.905 | 88 | 2 | 300 0.5 63" 0.5 0.888 0.029 0.067
RPTS Tr 16x2 16 | 14729 | 14929 | 12.89 @ 0 50 0.1 236" | 0.8 139 136 0.21
2 515 [[kn] RPTS Tr 16x4 16 | 1364 | 13905 108 | 2 50 0.1 511" | 046 1.21 0.067 0.124
* B o .
e A LiAp sAeE RPTSTr16x8 P4 | 16 | 13.608 | 13.905 | 108 | 2 | 300 0.3 10°18 0.62 1.21 0.067 0.124
e =% At RPTS Tr 18x4 18 | 1564 | 15905 | 128 | 2 50 0.1 432 | 043 1.58 0132 0.206
T —
P o e = ke L Lo BT CZ) « Co-Cox RPTS Tr 20x4 20 | 1764 | 17905 | 148 | 2 50 0.1 42 0.4 2 0.236 0318
E LA 0n +
. RPTS Tr 20x8 P4 17.608 | 17.905 | 148 | 2 | 200 0.2 83 0.57 2 0.236 0.318
KGM-N 1205 RH-00 E 204) i 24 i > 14 3x1.8 3 6 44 6.8 RPTS Tr 20x16 P4 17608 | 17.905 | 148 | 2 | 200 02 | 1547 | 07 2 0.236 gi;z
20 5x2 3 14 10.5 16.6 RPTS Tr 22x5 22 19.114 | 19.394 155 | 2.5 50 0.1 4°39 0.43 2.34 0.283 .
o e - ’ ’ * ! ! ’ ' ' RPTS Tr 22x24 P4 S 1914 | 19505 | 165 | 25| 200 0.2 21°34° | 0.75 2.34 0.364 0.441
KGM-N 2020 RH-EE S 35 1.5 30 1.5 K 12 5x3 4 12 11.6 18.4 RPTS Tr 24x5 24 | 21094 | 21394 175 | 25| 50 0.1 #1404 2.85 0.46 0.526
522 5 18 13 246 RPTS Tr 24x10 P5 21058 | 21394 | 175 | 25| 200 0.2 825" | 058 2.85 0.46 0.526
B ’ - " - ° 18 - - ' RPTS Tr 26x5 26 | 23094 | 23394 | 195 25| 50 0.1 352" | 039 34 0.71 0.728
KGM-N 2505 RH-EE E 38 3 34 / / 20 5x2 3 15 123 | 225 RPTS Tr 28x5 28 | 25004 | 25394 | 215 | 25| 50 0.1 34| 037 4071 105 0.90736
30 6x2.5 5 24 215 493 RPTS Tr 30x6 30 26.547 | 26.882 219 3 50 0.1 4°2 0.4 4.5 1.13 1.
- - © ’ © o ’ - : : RPTS Tr 30x12 P6 26507 | 26882 | 219 | 3 | 200 0.2 83" 0.57 45 113 1.03
KGM-N 3210 RH-EE E 53 4 60 10 15 30 6x2.5 3 44 334 4.5 RPTS Tr 32x6 32 | 28547 | 28882 | 239 | 3 50 0.1 346" | 038 519 16 1.34
6x2.5 4 425 29.7 59.8 RPTS Tr 36x6 36 32.547 | 32.882 27.9 3 50 0.1 3718 0.35 6.71 2.97 213
B § ” ’ & o ° - - : : : RPTS Tr 40x7 40 | 3602 | 36375 | 305 |35 50 0.1 329" | 037 8.21 4.25 2.79
i i s 235 5 45 13 10 25 oxé 4 7 143 | 324 RPTS Tr 40x14 P7 35978 | 36375 | 305 | 35| 200 02 657" | 053 8.21 425 2.79
KGM-N 3240 RH-EE ) 5 25 279
30 6x2.5 5 26 238 63.1 RPTS Tr 44x7 44 40.02 40.275 345 | 35 50 0.1 3°8 0.34 10.1 . .
oA - ” ’ © ' ’ - : ' RPTS Tr 48x8 48 | 43468 | 43868 @ 378 | 4 | 100 0.1 318" | 0.35 12 10 53
KGM-N 5010 RH-EE E 72 4 82 1 23 36 6x2.5 s /8 68.7 1558 RPTS Tr 50x8 50 | 45.468 | 45868 @393 | 4 | 100 0.1 3100 | 0.34 13.1 1.7 5.96
6 6x2.5 4 82 60 136.3 RPTS Tr 60x9 60 | 54.935 | 5536 | 4815 | 45 200 0.3 257" | 033 19 26.4 1
i : - ‘ v e - ’ “ : RPTS Tr 70x10 70 | 64425 | 6485 | 57 | 5 | 200 0.3 2°48° | 032 26 51.8 182
KGM-N 6310 RH-EE E 85 4 82 1 23 36 6x2.5 > 86 76 197 RPTS Tr 80x10 80 | 74425 | 7485 @ 67 | 5 | 200 0.3 225" | 029 34.7 98.9 29.5

SJ AUTOMATION Company Catalog 31
30



32

SSUEEFM
A = O|lAl =O
4 0N 24 E2to|2S 2 £2 0t o~ , —
o = S5 -1 -
EMZ 71N QX L{EZ ALS}17|0f| MgrstL|Ct. f - 2 ‘%‘“\ | !
EFM HE+= KONz} KAR O{HHE{7} AX| & &~ fﬁk}“’“ o . ﬂ\% |
e = =y e
AUELICE. | I / .-\\\ AR E:
. : ] al & TR TTTTIVE
A 1 2.1090 (G-CuSn 7Zn Pb (Rg7)) e K_/, Ry o u;_,,'_,'i_ 1) rl,'fub.-].'u;.'. -
%‘ftj g £ )?ﬁt IR intal .,':., AUASA J!_
e : /ﬁ’— A
N &8~/ | ] B
N~ I .
- 2 o
Type Dimensions(mm) Weight Essfrai]r;g
A1 A2 A3 a1 a2 B1 B2 kgl [mm?]
EFM Tr 12x3 24 40 32 45 28 12 10 0.11 520
EFM Tr 16x4 28 48 38 6 44 12 8 0.25 670
EFM Tr 18x4 28 48 38 6 44 12 8 0.25 770
EFM Tr 20x4 32 55 45 7 44 12 8 0.3 870
EFM Tr 24x5 32 55 45 7 44 12 8 0.3 1040
EFM Tr 30x6 38 62 50 7 46 14 8 0.4 1370
EFM Tr 36x6 45 70 58 7 59 16 10 0.6 2140
EFM Tr 40x7 63 95 78 9 73 16 10 17 2930
EFM Tr 50x8 72 110 90 11 97 18 10 2.6 4900
EFM Tr 60x9 85 125 105 11 99 20 10 3.7 6040
EFM Tr 70x10 95 140 180 17 100 30 16 7.8 8250
EFM Tr 80x10 105 150 190 17 110 30 16 8.9 10890
Type E D Weight Ejsfgzg
E[mm] [mm] [ka] [mm?]
i LKM Tr 12x3 26 24 0.012 280
LKM Tr 12x6 P3 26 24 0.012 280
LKM Tr 16x4 36 32 0.032 490
LKM Tr 16x8 P4 36 32 0.032 490
b I i .I" I. I T LKM Tr 20x4 45 40 0.06 790
AU AR 1 LKM Tr 208 P4 45 40 0.06 790
S LKM Tr 24x5 50 48 0.088 1130
I LKM Tr 30x6 60 60 0.15 1780
LKM Tr 30x12 P6 60 60 0.15 1780
LKM Tr 36x6 75 72 0.3 2610
- x = LKM Tr 40x7 80 80 0.37 3210
LKM Tr 50x8 90 100 0.55 5060

"UIN R 2T S

SJ AUTOMATION Company Catalog

33



= BICH S

HoHS2t FESI0] & 70| A3 F ™Mo| A2 ZR0|= Y= 7|0f= L2l AU EZ 2t MTE 8+ € =+ AUSLICL
AR MS0| AEHC 2 AAE ZR, BHO| 7t 72 AT F MO| CH32| 2|t E3 f MTE S+ LICHL

Size MT max [Nm] Size MT max [Nm]

MO 1.5 J1 148

M1 3.4 J2 178

M 2 7.1 J3 240

M3 18 J4 340

M 4 38 J5 570

M5 93

OIEI;DII HIEU'I— vl ol EE

8 710f A3 7 M2 D 20| A0 M2l U RER PSE= B2, YR radialdE0| FR maxE

BX =S —’F—°I0H0FE.*LIEF.

Size MT max [Nm] Size MT max [Nm]
MO 0.07 J1 0.8

M1 0.1 J2 1.3

M2 0.2 J3 1.3

M3 0.3 J4 2.1

M 4 0.5 J5 3.1

M5 0.8

E3 M)2 0128 S20|E BP(VE H2leh N HT)2t HE(R HH)2f 5=

M A3 HE
0|42 9lo| ASR B Q2] TS £ (MT)at ESHA< O ELICH,

fM @ LA 280 OFERS 280h= Het Al

Of2f Zf2 Yt g AN MEELICE 2= OFE 3L ZX R0 = O 2 40| AEE o7t UASUHCE J8iLt =
LtAt 7352 ER0l= fMO| ZFELICE

Size M (AITHE|E LEAL) M (2 LA Size fM (AITHE|E LEAL) M (2 LA

MO 14 12 31 55 -

M1 16 16 J2 6.4 -

M2 18 16 J3 72 32

M3 27 16 J4 8 -

M4 34 16/32 J5 106 -

M5 46 32

34

£ A3Z 210|BE WU J|ARE UIC MX|0s HBE XAZ TS XY A8S WL T,
LAF 758 202 A2 M= W2 0K 1h20| Aligning errorS 7 4 Qi LICH 20|C|2 Ei Ty
§2 92 7}0| =0 X|X|SI00F BHLICH & LiAt 25| 242 WX[5}7] i8H 2]0|2 AL{X|2}End stopo]

o=
EX[=|0{OF BLIC,

- HH

%] Z0| gragst 0iX| S DR, 7|2 SO
C}. 2L{E0| o[} &t Eofle A20|=
JBjA| ChE I ZH2 B CRYO| EHELICH
~H2ex

- Lpated Ama) 74,

2 H|7{E|0{oF SHL|CL. Cold cleaner?} H|QIE SHIE L= 512E|X| A&
MX|, & SL=RH 23 E|0{ofF gLt

A 22 WS ES YAt REE 2 F5dS 25| flof 59| = LA 32| AL & =¥
o
9

| 822 SI0/HE S0 210 301 VLIt DX Y2 B 28 2 BUS B
o

AE Z2101M 200-300 AjlZOtCt REHE =7t 2F)

=214 S8

Lithium soap complex?| ThickenerZ 7= E2{ H|0{EE ARALAF MKL2 2| ATt SHEIL|CE,

=

2 A2 Sofo|HO| 68 S 2 M= -30 " C ~ +80 * C ALO] @1 AT} +110 'CO| e J[2H2t S{SEILICE. OIS
Qg XX 2 SHHE SBLICH

SJ AUTOMATION Company Catalog 35



= 101

ASIE EH

ANAS

LR e Rt

X HYS ARBE| Hof| 2= E 7101 237 M HIH 7]0f gA Sl I1F 2EO| 3 W2 HiX| & sy ol E
T OSEA|7| HERL|CE.

= 38 2% (Aligning Error)

36

S 7 QAL MXIN| NFSPH YHE0{OF BLICH Y 229 Stress(S)2 LWL BEIGY0| F7Iot RE T
| 20| #E 012E SIIAZLICH
D2 5 FAPHA E7| HO| 2 8 LA M SROLMEo) A 02 FA| TZH0) ZX STAS2A #7|0f

—_

F M FOFSEE 0| = AtO]Q] FZHAO M Blo| Hatof [HE YE 2LFE 2l = USLICL 0] ER T 2E

210 3 LA 2 CHA| £2 2 2| E|0{0F gL T,
FH A2 2ot 2lof 0| LM HH A EFSS Y2AZ 27T ASHLE IZX peH JE 2F

—

(Aligning error)= F7t2 EEE E1 174 519| #3I} QA sfjof ThL|Ct.

H

mu > |4 %2 o
U Tl

-l

=™

2 SAISH| O CRA =HQIE|0f0F LT BT N (
=1t
L

FA| NABIO| ST 2J0|E AQIXIO| Hefet SHO| 15 DEIS TS
ASR 5749 B2 LA} 7|0ferA0| Lol 2142 2 Elof Y|

OISk TR0 I2t ChA| FRELIC
BIH R (LE $2)0| 2201 ASRE et J2|A2 Eug Bejt YLt
A B \RTS K6} GIO| B AEBIA|T| HRLICE,

AEEIE LEAK(Tr screw) & FAIeH Z2= 30 %0[5H2] 2F AlZHDuty <30%)0flA Al25HA|7| HEEHLICY.

u KFOH
i | —

#710f A3F Mt
OACHH, HH 75

Size kg Size kg
MO 0.03 J1 1.5
M1 0.06 J2 2
M2 0.14 J3 2
M3 0.24 J4 2.7
M 4 0.8 J5 3.2
M5 1.1

SJ AUTOMATION Company Catalog

37



Spiral Bevel Gear
Boxes (BG)

ofziol Ei= Chg =SS THZ 5t JUSLICE

— — A
6H DAMEZ|EE - 1=0E TYPE : ®M7| 2F
Screw Tap 7t+& - LOAD TYPE : 24Xt 6=
-3 R EE A2 (SHEE 1)

DEIE™ Hub #+%
7| 2: Key &2 DEZ EIY
7ts: Power lockEY,
Clamp EIY 7t

- 28 AIZHH) : 3HR0| 8A[ZF (SERVICE FACTOR : 1)

) . - 7|A| (L) : 20,000A|2+ (SERVICE FACTOR : 1)
Housing - Duty factor(C) : 1AIZ+0fl 1 7|5 (SERVICE FACTOR : 1)
- FEzA 2R 205

- 1= 1,000mO|5FY i

LH & O-ring O
FItESealantE= = RATIO 1:1 RATIO 1:1.5 RATIO 1:2 RATIO 1:3 RATIO 1:4 RATIO 1:5
—
ts UNIT input P

ower Torque Power Torque Power Torque Power Torque Power Torque Power Torque
Sz rpm input output input output input output input output input output input output

kW Nm kw Nm kW Nm kw Nm kw Nm kw Nm

2800 4 13.1 - - 2.09 13.7 0.77 75 - - - -

; St 7} 2000 2.99 13.8 - - 1.55 14.1 0.6 8.1 - - - -

NiCrMo g 'f' i 1500 2.44 14.9 - - 1.22 14.9 0.49 8.9 - - - -

(SNCMZ) 1000 176 15.2 - - 0.88 16.2 0.35 9.7 - - - -

8612 800 152 17.4 = - 0.77 17.4 0.3 105 - = - -

600 122 18.7 - - 0.61 18.7 0.25 111 - - - -

400 0.87 20 = - 0.44 20 0.17 15 - - - -

100 0.23 21.8 - - 0.12 21.7 0.04 11.2 - - - -

50 0.13 23.6 - - 0.07 236 0.03 12.7 - - - -

10 0.026 24.9 = - 0.01 24.9 0.01 13.1 - = - -

2800 | 2115 | 692 957 46.9 8.46 55.3 3.12 30.6 2.69 352 172 28

AC 34 EHE 2000 | 1552 | 711 6.99 48.1 6.15 56.4 2.28 312 15 27.5 1.25 28.4
o . = 1500 | 11.92 | 729 5.36 49 468 57.2 174 31.8 113 276 0.94 28.7

IEC Flange % Double Lip Seal &% 1000 | 813 74.6 3.65 50.1 32 58.6 118 323 0.77 28.3 0.64 29.2
MER2HE Flange Double seal 7ts 8619 800 6.59 755 2.95 50.7 259 594 0.95 326 0.62 285 051 29.3
B s . 600 501 76.4 2.25 514 1.96 59.9 0.72 33 0.47 28.8 0.39 29.6
LN ° Bearing 400 3.41 78 157 52 1.33 60.7 0.48 335 0.32 29 0.26 29.7
cover 100 0.9 81.7 0.39 53.9 0.35 63.4 0.13 343 0.08 29.7 0.07 30.4

50 0.46 82.8 0.2 54.6 0.17 64 0.07 345 0.04 29.9 0.04 3.06

10 0.09 83.9 0.04 55.2 0.04 64.6 0.01 34.8 0.01 30.2 0.01 30.9

2800 | 2324 | 761 1582 | 777 106 69.4 4.58 44.9 5.07 66.4 3.47 56.8

2000 | 17.39 | 796 1154 | 794 7.79 713 3.35 46 3.69 67.6 2.67 59.9

1500 | 13.48 82.4 8.83 80.8 592 724 2.55 46.8 2.81 68.6 1.99 60.8

1000 9.35 85.8 6.05 83 4.02 735 1.73 475 1.97 69.9 1.35 61.7

. . 800 7.62 87.3 488 83.8 3.25 743 1.4 483 153 70.3 1.09 62.4

- 22 EH=F(Black, Blue), HH=F, =3, stainless BG24 400 5.86 89.5 372 854 2.46 751 1.07 486 117 711 0.85 64.2

400 4 91.7 2.52 86.7 1.66 76.1 0.72 49.4 0.78 71.8 0.57 64.8

_ ) 100 1.07 97.8 0.65 89.8 0.42 76.5 0.18 50.5 0.2 72.9 0.14 66.8

- Backlash E# : 6Arcmin(6’), &[4 1 3~4 50 055 | 10041 | 033 91 0.21 76.8 0.09 50.7 0.1 74.1 0.08 673

10 0.12 103.3 0.07 924 0.04 77.3 0.01 50.9 0.03 74.8 0.01 68.6

2800 | 5304 | 1734 | 3055 | 149.7 = 2015 | 1323 | 953 93.6 7.05 92.3 4.58 74.8

2000 | 3952 | 1809 @ 22.88 | 1573 | 1495 | 137.2 7.49 102.9 5.38 98.5 3.43 786

1500 | 3068 | 187.2 | 17.81 | 1628 | 1144 | 139.7 572 1047 | 408 99.8 261 79.8

1000 | 2119 | 1947 | 1222 | 1684 7.8 142.2 3.87 106.7 2.76 101.1 1.77 81.1

- 800 1729 | 1983 | 10.14 174 6.37 144.8 3.16 108.5 2.24 102.3 1.44 824

600 1326 | 203.4 7.8 1778 | 481 147.2 2.41 110.5 1.69 103.6 1.1 84.2

400 9.1 208.3 533 183.4 | 3.5 149.7 1.64 112.3 114 1047 | 0.74 85.5

100 2.47 222.1 1.3 187.2 0.78 1547 | 042 116 0.3 109.8 0.2 87.3

50 117 2271 0.65 190.9 0.39 159.7 | 021 1179 | 0.16 112.3 | 009 88.6

' | ' . , Jrmc 10 0.26 2346 0.13 194.7 0.13 162.2 | 0.04 119.8 | 003 1147 | 003 9.8
1 | - 4l 1) g 4 In f | i 2800 | 11336 | 3712 = 7501 | 3555 | 3887 | 2548 19.6 1924 | 1599 | 2093 | 12.87 | 2106
[ 1 = s - [ . 1 h {%[ d I | _Eg 2000 | 8333 | 3822 53.3 366.6 28.6 261.3 143 197.6 1.7 2132 | 936 215.1
: . Ly | f 1500 | 6422 | 3926 | 4082 | 3744 | 2197 | 2678 10.9 200.2 884 | 217.1 7.15 219
. ! 1000 | 43.94 403 2782 | 3819 | 1508 @ 2756 7.49 2054 | 598 221 4.87 2223

Eﬁ ? £‘&. 8638 800 3588 | 4114 | 2262 390 1222 | 27915  6.06 208 4.81 2223 3.9 2249

600 2743 | 4199 | 1729 | 3965 | 923 2834 | 462 211.2 364 | 2255 2.99 2275
—l — —— s 400 18.85 | 4303 117 | 4043 6.24 | 2886 3.12 2216 2.47 2294 1.95 2294
N HISET S =a| 100 494 | 4537 312 | 423.1 1.69 3003 | 081 2236 | 065 2366 | 052 236.6

Xl 5= 25 SIS AO| LT/ |05 H 50 247 | 4621 156 | 4321 078 | 3042 0.4 2275 | 033 | 2385 | 026 | 2392

=P 10 052 | 477.1 0.26 442 0.17 310.7 | 008 228 0.07 2418 | 005 241.8

38 SJ AUTOMATION Company Catalog 39



RATIO 1:1 RATIO 1:1.5 RATIO 1:2 RATIO 1:3 RATIO 1:4 RATIO 1:5 Excution type
UNIT | input | . A
SIZE - Power Torque Power Torque Power Torque Power Torque Power Torque Power Torque |
input output input output input output input output input output input output . TE: e 1 T .
kw Nm kw Nm kW Nm kW Nm kW Nm kW Nm i 1 A l i { ([ l { E[E:
2800 1333 437 81.2 399 45.7 299 23.1 228 17.8 234 12.8 211 l _%_ l AP DX = BS
2000 98 450 59.8 412 335 308 16.9 231 13 238 9.3 216 T
1500 75.5 461 45.8 421 25.7 316 12.8 335 9.8 243 7.1 219
1000 51.7 474 315 434 17.6 324 8.8 242 6.7 248 4.8 222 — -~ -~
BG42 800 42.2 484 25.6 441 14.3 329 7.1 244 5.4 251 3.9 225 —
600 32.3 494 19.5 447 10.9 334 5.4 248 4.1 254 2.9 228
400 22.1 507 133 459 7.4 339 3.6 252 2.8 257 1.9 230
100 5.85 534 3.5 481 1.9 354 0.9 261 0.7 265 0.5 237 1 =
50 2.99 546 1.8 489 0.9 361 0.48 264 0.33 268 0.26 239 t i ‘i‘ i
10 0.65 562 0.4 498 0.2 365 0.09 268 0.07 272 0.05 242 HH1~—-H-
1500 | 1625 | 992 | 1153 | 1057 | 575 | 706 26 481 253 | 621 195 | 595 l = 11K 51 (= ‘i‘ —+ = BH
1000 111.8 1023 78.9 1086 39.7 729 18 497 17.2 636 13.2 607 AD e AX . M.. E[E l BHC
800 91 1040 64.2 1105 32.2 738 14.6 502 14 644 10.6 614 L BHS
BG5S 600 68.9 1053 49 1123 244 749 11 508 10.6 651 8.1 621 —
400 47.5 1092 34 1161 16.7 768 7.5 517 7.2 662 5.4 629 —
100 12.6 1161 8.9 1235 4.4 803 1.95 541 1.8 688 1.4 654 — —
50 6.5 1186 4.5 1264 2.2 822 1.04 547 0.9 694 0.78 660
10 1.3 1223 0.9 1300 0.46 836 0.21 556 0.2 706 0.13 670 o .
1500 344 2109 191 1754 142 1723 96 1772 60 1466 42 1278 ¢ _ﬁ f |
1000 240 2202 133 1817 98 1778 66 1823 42 1505 29 1309 Ej . L- 3
800 196 2264 108 1847 79 1808 53 1850 34 1525 23 1323 T “Ti i _I_ 10
600 151 2301 82 1888 60 1841 42 1881 25 1547 18 1342 L
BG75 400 104 2371 56 1937 42 1884 27 1918 17 1576 12 1364 AS B r DO c
100 27 2552 14 2061 10 1992 7.8 2015 3.9 1645 2.6 1418
50 14 2612 8 2102 5 2028 3.9 2046 2.6 1667 1.3 1435 .
10 3 2700 1.5 2161 1.1 2076 0.7 2088 0.5 1698 0.26 1457 — —
T AL TO| EFASA| AT 3| 30% ZA { -
H H L
MH AKX t | j IE. ! |
l I 1 AH r % — i A ‘!’
- EXF ZZ0| A7 MM IS} CI2 HL0|= AH|AQIXHSERVICE FACTOR)ZE 112{8H0F BHL|Ct. AHC BD : IC DR
AMH|A QIXt= CHEF ZELIC AHS %[
— -—
—
H: 23 AR
hours/days 24 18 12 8 4 2 1
H 1.25 1.18 1.1 1 0.9 0.8 0.7
. os
L : 7|7 2% (HOURS) 28t
theoric time 60,000 40,000 20,000 15,000 10,000 5000 3000 .
- BG spiral bevel Zt&7|= 12 1,000rpmO|2t21 IS0 A GreaseZ2 ST EILICE
L 1.3 1.15 1 0.95 0.9 0.85 0.8
L > ey X IT = & L
C : Duty factor - ofjoft7| S2{1, L0l S|, HiE S0k 7| TAC|H, QK0 M2 HE oy S2{19 PTH
o0l 233 L3S}
No. of starts(A|S2|4=)/hour 7|"<'5HAO|—I— 1= 7|'o°|=| I—ll:l'
irregular 1 5 20 60 120 _ uHo Lo _z,\_|:o|_ 5’—E§|'7101|k15 o||:||_|-|7f7|§ xuq--é-l,o;l _Tl_:n_-e,-|-|_||:|.
uniform 1 1 1.4 1.8 2.2 2.7 T i A+~ —T—"0©o = HT o= lE om odd
moderate shock 1 1.4 1.8 2.2 2.7 3.2
heavy shock 1.4 1.8 2.2 2.7 3.2 3.8
Hotsk 37|9| SPIRAL BEVEL GEARBOX(BGA|Z|X)E MEHSH= | AH26H= At E3ZF (MU)E

QT EI (M)
27| l5H 2ol M gt MH|AQIXIE SEILIC.
*

7 E3(M)gre] 70| 2 0HH 22loH F=A|7| HFRLICE.

MU=Mx(HxLXC)

40

SJ AUTOMATION Company Catalog 41




42

Dimension of
tupefA

\1
::.I/;llJ

L=

1]

R

119
N
©

A
L. N
Fl & E o r H H
T
.
0e | N I 0
@ “\ - -k - | r
=N | S
\CTED T o
= N : S 8N | R
4] | r( Oy
; ﬂ'[ - — - -——-i—-—-— — = = et - o
. WA S
=5 A ]
e ¢ & e
E= 1 [ 1 L [ 1
= = T ' T ' T
| | |
| |
1
| / I i
@
. 'v/ D,
&0 D,
D
SIZE Ratio : 1 A B C Dw(j6) Dz(j6) D3 D4 Ds E G H L4 Lo
BG12 1,23 144 72 46 12 12 44 54 42 74 325 26 26
123 19 40
BG19 210 105 65 19 60 86 72 59 100 45 40
45 14 30
1,2,3 24 50
BG24 260 130 80 24 70 105 88 73 115 55 50
45 19 40
1,2,3 32 60
BG32 310 155 95 32 95 135 115 88 145 70 60
4.5 24 50
1,2,3 38 70
BG38 360 180 110 38 120 165 145 103 170 85 70
4,5 28 60
1,2,3 42 80
BG42 — 410 205 125 42 135 190 165 118 195 100 80
4,5 32 60
123 55 10
BG55 520 260 150 55 170 230 205 143 245 120 110
45 42 80
1,2,3 75 150
BG75 750 375 225 75 300 195 350 165 150
4.5 55 110

SIZE Ratio: 1 M N(h7) 0 P R S1 S2 C1 c2 T

BG12 1,23 100 65 45 M6 M6 M4x8 M4x8 20x4x4 20x4x4
1,23 140 M6x12 35x6x6

BG19 90 70 M6 M6 M6x12 35x6x6 14
4,5 130 M5x10 25x5x5
1,2,3 165 M8x16 40x8x7

BG24 110 88 M8 M8 M8x16 40x8x7 18
4,5 155 M6x12 35x6x6
1,23 205 M10x20 50x10x8

BG32 140 110 M10 M10 M10x20 50x10x8 18
4,5 195 M8x16 40x8x7
1,2,3 240 M12x24 60x10x8

BG38 170 136 M12 M12 M12x24 60x10x8 18
4,5 230 M10x20 50x8x7
1,2,3 275 M12x24 70x12x8

BG42 200 155 M12 M12  ————— MI12x24 ———— 70x12x8 18
4,5 255 M10x20 50x10x8
1,23 355 M14x28 100x16x10

BG55 240 190 M14 M14 M14x28 100x16x10 23
4,5 325 M12x24 70x12x8
1,23 500 M16x32 140x22x14

BG75 330 248 M16 M16 M16x32 140x22x14 30
4,5 460 M14x28 100x16x10

SJ AUTOMATION Company Catalog 43



Dimension of
tuype AH

O 87 231 @ Y S31 e Hz 232
A N
C I L
O O—
fll E LI: ].I- > _25%7 s _;B§7 ©
: | L
: . \_) e E==N
I N il : B
o —_— Ty =1 P ._ |
: | / i i
T4 PAE! ! — - |
T | R ot el oo [ H
3 : 0 I pr— I \— = 0O @
— = - - d"] =1 =1 (= — o = T \S
I ¥ I H— - - _l— — i I T
I I
= 4
VLl o £ i 3 10 11 20 21
o - |
A | .
= 1 O O
v - — -
) : *— *—
= O O
—_
- b 1@ | @
! : . o ¢ | ¢ |
r.'\/ m m m
CL /
ey _N/, D__
50 ==
0y -— (=3 -— e R o« -
| ;
e D+ - r
30 31 40 41
SIZE Ratio : 1 A C D1(j6) D2(j6) Ds D4 Ds Ds E G H L1 SIZE Ratio : 1 M N(h7) 0 P R S1 C1 C2 T
BG12 12,3 92 46 12 12 12 54 20 42 74 325 26 BG12 1,23 100 65 45 M6 M6 M4x8 20x4x4 4X4
12,3 19 40 1,23 140 M6x12 35x6x6
BG19 130 65 19 60 86 72 30 59 100 45 BG19 90 70 M6 M6 6x6 14
4,5 14 30 4,5 130 M5x10 25x5x5
1.2,3 24 50 1,23 165 M8x16 40x8x7
BG24 160 80 24 70 105 88 35 73 115 55 BG24 110 88 M8 M8 8x7 18
4,5 19 40 4,5 155 M6x12 35x6x6
12,3 32 60 1,23 205 M10x20 50x10x8
BG32 190 95 32 95 135 115 50 88 145 70 BG32 140 110 M10 M10 10x8 18
4,5 24 50 4,5 195 M8x16 40x8x7
123 38 70 12,3 240 M12x24 60x10x8
BG38 220 110 38 120 165 145 60 103 170 85 BG38 170 136 M12 M12 10x8 18
4,5 28 60 4,5 230 M10x20 50x8x7
123 42 80 123 275 M12x24 70x12x8
BG42 ———— 250 125 42 135 190 165 60 118 195 100 BG42 200 155 M12 M12 12x8 18
4,5 32 60 4,5 255 M10x20 50x10x8
1,2,3 55 110 1,2,3 355 M14x28 100x46x10
BG55 300 150 55 170 230 205 75 143 245 120 BG55 240 190 M14 M14 16x10 23
4,5 42 80 4,5 325 M12x24 70x12x8
1,2,3 75 150 1,2,3 500 M16x32 140x22x14
BG75 450 225 75 300 120 195 350 165 BG75 330 248 M16 M16 22x14 30
4,5 55 110 4,5 460 M14x28 100x16x10

44

SJ AUTOMATION Company Catalog 45



46

Dimension of
type DR

0
rig

w e

31 e HiEs 32

A
Mg }‘{2
1
I, G | G L N
E K
i
P
()] T|T N T|T
IIKS_E\ \\-_‘ |
¢ . .
!
&= )
- ¢ I
&
|
- |
-
i |
i
i
SIZE | Ratio: 1 A Da D2 D3 D4 D5 E G H L L2 M4 M,
BG12 1,23 200 12 12 44 / 54 42 74 325 26 26 100 100
1,23 19 40 140
BG19 280 19 60 86 72 59 100 45 40 140
4,5 14 30 130
1,23 24 50 165
BG24 330 24 70 105 88 73 115 55 50 165
4,5 19 40 155
1,2,3 32 60 205
BG32 410 32 95 135 115 88 145 70 60 205
4,5 24 50 195
1.2,3 38 70 240
BG38 480 38 120 165 145 103 170 85 70 240
4,5 28 60 230
1,2,3 42 80 275
BG42 | 550 42 135 190 165 118 195 100 80 275
4,5 32 60 255
1,2,3 55 110 355
BG55 710 55 170 230 205 143 245 120 110 355
4,5 42 80 325
1,2,3 75 150 500
BG75 1000 75 / 300 / 195 350 165 150 500
4,5 55 110 460

o— ' o—
G_ - @ G_ e
o [
| ‘?’
|
mh \
]
10 0 30 40
SIZE Ratio : 1 N 0 P R S1 S2 C1 Cc2 T
BG12 1,2,3 65 45 M6 M6 M4 x 8 M4 x 8 20x4x4 20x4x4 /
1,2, 3 M6 x 12 35x6x6
BG19 90 70 M6 M6 M6 x 12 35%x6x6 14
4,5 M5x 10 25x5%5
1,2,3 M8 x 16 40x8x7
BG24 110 88 M8 M8 M8 x 16 40x8x7 18
4,5 M6 x 12 35x8x7
1,2,3 M10 x 20 50x10x8
BG32 140 110 M10 M10 M10 x 20 50x10x8 18
4,5 M8 x 16 40x8x7
1,2, 3 M12 x 24 60x10x8
BG38 170 136 M12 M12 M12 x 24 60x10x8 18
4,5 M10x 20 50x8x7
1,2, 3 M12 x 24 70x12x8
BG42 200 155 M12 M12 1 M12x24 | —+——— 70x12x8 18
4,5 M10 x 20 50x10x8
1,2,3 M14 x 28 100x16x10
BG55 240 190 M14 M14 M14 x 28 100x16x10 23
4,5 M12 x 24 70x12x8
1,2,3 M16 x 32 140x22x14
BG75 330 248 M16 M16 M16 x 32 140x22x14 30
4,5 M14 x 28 100x16x10

SJ AUTOMATION Company Catalog 47



Dimension of =E| NiIZE HI=
tupe MA 4 N T0=A

MA |
= T
- D
I
5] \ Fossible Gear positions and rotations
bW Execulion Combinations
tﬁ'al Speed reducers Speed increasers
A 90
MAS MAD MC
& I +* 4+ I & L I +
I I 11
) l:} — — - — _@ - mj %--_-_ B
+ _\'r' + + '|£ il 7 llr +
FlT Il It
i | A 180
) H
MH - MBS | MED
.|_|_I L F———1
i.—E + ++ ﬁ_—.i
e - =
& I__"F + =+ [+ ,£F|— 3 1 e .
. - T A 270
o
MDR MEH
I AS 90

48 SJ AUTOMATION Company Catalog 49 L



50

Disk shaft (SJDS)

Shaft—-end of reducer between B and C

Yz 22|, o] AIRE U4T| 5 1Y, STS W It
BT B2 2 S520| £, Key 91X #12 7H53 25
ZYA| tension A48} BATH B0l HBT FL, UA7|0| % BREC| XS B2t C AO[of HHXE & US

Connection shaft(SJS)

=S 10ESk= Hub (Bk Z0]0f 3 E) EAtt keyway 7HE2 EE AFYY.

Poly Urethane & ZE7t =2 A S AR50, 2|ACHH| E3 50| iR £

SJ AUTOMATION Company Catalog

Double Disk shaft (SJWDS)

91



G= CIAZ NZE Disk Flexible
Shaft

%

YT 22|, Vi AIRE YA7| 5 0, STS WX Iks

WA T2 2N 52(0) £, Key 9K 817 THst 7

KYA| tension H|ATE HATH F2i0| HEE F2, U7|0| % BEREO| YIXIS BLFC AO| HiX] Ths
OZ BS0| Ol CIATS AFSE 4 o0, 1 32 T4, B2H2 24 0y 618

Dimension [mm]

TYPE B C D L min Screw

SJDS-42 10 13.6 425 45

SJWDS-42 10 13.6 425 91 M
SJDS-47 11 16.5 47 49
SJWDS-47 11 16.5 47 99

SJDS-54 13 19 54 52 M5
SJWDS-54 13 19 54 105

SJDS-64 16 26 64 74 M6
SJWDS-64 16 26 64 148

SJDS-80 20 30 80 82
SJWDS-80 20 30 80 164 M8
SJDS-100 20 30.6 100 102.5
SJWDS-100 20 30.6 100 205

Technical data

Rated torque Rated torque lnariE
1. Bolo| 22 X1 OH =0 EEISIo{A] X2l for continuos for continuos 2 Screws tightening| Max parallel error °
;'_kll-gl lglf[‘:l = I'ESO'” =o I. :I 1 mH = TNitrE transmission with | transmission with ;T::gTT; ?rf] torque [Nm/rad] [mm] bt gl 7]
—| o= = d | |' smallest bore - & largest bore - @ piing
- = o =il Al SJDS-42 26-7Nm @18-12 Nm 0.032 8 0 2
2. HQ| CISCIATH S &S Sof B4 T2 A
= Z3j|0| £| A1 5~3b} AlS SJWDS-42 @6-7Nm @18-12 Nm 0.033 8 0.3 4
-= e° SIDS-47 28-12Nm @ 18-20 Nm 0.054 8 0 2
3 9"%%'?—" El_olg -E—E|6c§ SJWDS-47 @ 8-12 Nm @ 18-20 Nm 0.055 8 0.3 4
SJDS-54 @10-22 Nm @ 24-29 Nm 0.098 16 0 2
4,712 A0 (x2) 228 SHZE Ve EE= SJWDS-54 10-22 Nm @ 24-29 Nm 0.12 16 06 4
Inks| SJDS-64 @12-31Nm @ 32-40 Nm 0.23 30 0 2
SJWDS-64 @12-31Nm @ 32-40 Nm 0.35 30 0.6 4
5. ZEA| HIEE X|ASP} 7H50H7| Qe oto|= X SJDS-80 @ 15-70 Nm @ 42-97.5Nm 0.75 60 0 2
2l 11X SJWDS-80 @ 15-70 Nm @ 42-97.5 Nm 0.84 60 1 4
SJDS-100 @20-220 Nm @ 50-320 Nm 2.2 60 0 2
11 1I: — =0
6. Haldt B B SEH0| E3 SJWDS-100 @ 20-220 Nm 2 50-320 Nm 2.9 60 1 4
7 QkXZ 3 F{=2| Atol S O XHM5E O|of
AZ 7|0 HEH Y = QAHM5E O Order code : SJWDS47-1000L-20K6X24K8
' A =2
Flexible QLED =l A E=1 SJIWDS 47 1000L 20 K6 X 24 k8
Aligningg 152 & Shaft 213 ANZE Zol UE 78 ud 7z

52 SJ AUTOMATION Company Catalog 53



54

1. Levelling

HEH(ESH L S22 BASE) Q| B S 9HF| FLICH

2. Unfastenning bolts

gAlMe 2ES 20 EUL.

* \FZEQ} 8H| E2E|= AE|H= 312 AT} Tzt

HC A 42 HAHEZ|2EQ| 0|ErS HhX|ghL|C}.

=2 OT,

3. Dividing coupling and pipe

=ES S0{M mjo|=et HEZS =2 YL

RS 74

i

S 7| 0] U0} Loj PHLICE

5. Assembling pipe and couplings

T2 HET S TO|Z=of| HYSI AFZEL| HE|IE S

25 HSUC.

h B

*3{BYo| Sy
=lof Q&Lict.

HENX H0f| QoiFE=F 24

CIAS SINR| LS 4 YES A

2417k 7FSSLL O]

72 X 9 B84l End-playoll Of3t HES A2t

OF LIk,

6. Fastening bolts at optimised position

oto|mo| =t 7t

0z
N
II

2t LevelQ| BIG1I} X| ASHE!

Helx|o HEE BS RSO

x| -
S -

% dm

DA

DB

=
Poly Urethane& ZBE=7t =2 &S AtE50], 2| 30iH| £

Dimension [mm]

=2 1X™6H= Hub(BkZ 0|0 siE)EMAL It keyway7 a2 E—’,._‘—kl'%Fo.:l.

Connection

7. Taping Sticker

AE[HE E0ELIC

*AMZESL eV S8 5= AEF = 618 el H2AE
Ct & 32, HAMZ|ZEQ| O[S LX[gLCt.

TYPE DA DB B s L min Screw tgqujgngm]
SJS-30 30 30 11 1.5 99 M4 8
SJS-40 40 40 17 2 133 M5 16
SJS-55 55 55 21 2 177 M6 26
SJS-65 65 65 26 2.5 212 M8 60
SJS-80 80 78 30 3 249 M8 60
SJS-100 100 98 40 35 283 M12 180
SJS-120 120 110 65 4 320 M12 180
SJS-135 135 115 75 4.5 370 M16 640
SJS-160 160 135 85 5 420 M16 640

Technical data
Foartggr;[grrwﬂlcj)i soartsgr;[t?rrﬂgi Couplings inertia Dynamic e Max parallel error
TYPE transmission with | transmission with moment in stlffnfﬁfnp/)gd]sleeve [mm] Max. Angle [*]
smallest bore - @ largest bore - @

SJS-30 @6-12Nm @ 16-15Nm 0.0075 130 0.1 1

SJS-40 @ 8-17 Nm @ 22-20 Nm 0.039 1200 0.1 1

SJS-55 @ 12-40 Nm @ 32-70 Nm 0.16 2600 0.1 1

SJS-65 @ 15-100 Nm @ 35-160 Nm 0.38 4900 0.1 1

SJS-80 @ 15-160 Nm @ 45-380 Nm 1.1 11000 0.1 1
SJS-100 @ 20-450 Nm @ 60-600 Nm 4.6 30000 0.1 1
SJS-120 @ 20-825Nm @ 60-1650 Nm 20.6 107920 0.27 1
Order code : SJS55C-1000L-20K6X24K8

SJS 55 C 1000L 20 K6 x 24 k8
shaft 917  D|E2|¥ £2EY  ARZE Lo| S Ha o 7ls

SJ AUTOMATION Company Catalog 55



A ormgear =(0).4

il e ‘W -
-~ | :j
i ‘@‘?-\‘ = Izq : 2 \\\',
4{3 7 "f”- .:/ g -® ‘,‘i .'\ ~
SR S (Y - - - -

56

Ja|A EEZ I8t 2712 Nilos ring2
NI EO| 2712| bearing0l| RH&tz| 1
BOX75 0|42 Taper roller bearingS AFE$HCY,
T2 M V58t V6 position O A= AHS THSSICE,

f

e HlolEd2 Xt

A 2IX|0f Cher =717F 2 3EX| BTt

ofn
oy
0
1=
ko)
0

fu

N

£51 5= BOXA|Z| == BOX250 A4 90
K= Bfo| A A ER0[E2Z, BOXI0

FH= FE2 US0TICL

e BOX90 7HX|= g4 2L, BOX110 £EE= 0|4Z 20| FR&|0f
250610, 282 ™ M2F =2 (Leak) HIAE 311 level gage,

=1
filler, break plug?t 6{1£9| plug?t X Z=ICt.

SJ AUTOMATION Company Catalog 57 L



58

Ryl

1.Hollow shaft and cone packing ring : Suitable for
heavy load applications °

2.5uitable for : wheel agencies, transportation
handling mechanism, cam mechanism tilting
mechanism LCD panel, rack and pinion

mechanism and any other industry bodies.

1.Hollow shaft rotary flange : Suitable for heavy
load applications °

2.Suitable for : rotating mechanism, CNC lathes
mechanical arm of the tilting mechanism.

1.Hollow shaft (clamp type), single and dual hollow
shaft hollow shaft
2.5uitable for : conveyor transporting mechanism

1.Hollow shaft clamping plus keyway : Suitable for
heavy load applications.

2.5uitable for : Roller agencies, transportation
handling mechanism, cam mechanism tilting
mechanism LCD panel, rack and pinion
mechanism.

1.Hollow shaft with keyway : The new supplement
stops payment the tooth hole
2.General transport mechanism °

1.Large hollow shaft rotary flange : Suitable for
heavy load applications °

2.Suitable for : roller mechanism, flame cutting
machine mechanical arm rotary mechanism, cam
mechanism, LCD panel flip agencies, rack and

pinion mechanism.

= RXW Series

Model Establishing:
Rxwuaﬁ,ﬁ‘ L1 { 10 ‘ C | ‘ S1 ‘ Bl |—| Y1
Type : Nil: on behalf of the
Standard
RXWO55A - Special notation
RXWOTOA Servo motor mark Input and output
RXWOB5A 51~811 terminal size,
RXW 1054 According to customer
RXW125A(B) specified production.
RXW1 EGA{EI]
RXW1 EGA{B] )
RXW220A A I"',’"?"_"
Lo SinEee Dol Shalt

RXWOB0AS C+K: Single hollow shaft-+keyway Backlash Level
RXW110AS(BS) B : Double hollow shat R e
RXWI1 BEAEEBS} Sll;:v: Mo 2C+K: Double hollow shaft+keyway b:jc;iir:sen aeahiian]
RXW1 EEAS‘[ES} L1{5ingle Stage Ratio) K-S imgia otigut sl L1 55~10 arc/min 125 8~15 arc/min
RXWZ00AS(BS)| | L2Double Stage Ratio) Precision backlash B1
RKWEEGAS ) L1518 arc'min 1.2.52=5 arc/min

Precision backlash B2

L152~5 arc/min 125 3~8 arc/min

* Spocial type: BD ulima-precision backlash

|\““~ Stage No
Spﬁ:im Single Stage Ratio(L1) Double Stage Ratio(L2)

RXWDS55A 1,3.4,5.7,10 12,15,16,20,25,28,30,35,40.50
RXWOTOA 1,3.4,5.6,7.10 12,15,16.20,25,28,30,35,40.50,60,70,100
REWOBSA 1,3.4,5,6,7,10 12,15,16,20,25,28,30,35,40,50,60,70,100
REW 1054 1,3.4,.56,7.10 12,15,16,20,25,28,30,3%,40,50,60,70,100
RXW125A(B) 1,3.4,5,6,7,10 12,15,16,20,25,28,30,35,40,50,60,70,100
RXW1504(8) 1,3.4,56,7,8,59.10 12,15,16,20,25,28,30,35,40,50,60,70,80,90,100
RXW180A(B) 3,4.5,6.7,10 12,15,16,20,25,28,30,35,40.50,60,70,100
RXW220A 3,4.5,6.7,10 12,15,16,20,25,28,30,35,40.50,60,70,100
RXWDBDAS 2,6.8,10.12,14,16,20 24,30,32.40,42,50,56,60,7T0,80,100,120.140,180,200
RXW110AS(BS) 2,6.8,10,12,14,16,20 24.30,32.40,42,50.56,60,70.80,100,120,140,160,200
RXW135A5(BS) 2,6.8,10,12,14,16,20 24.30,32,40.42,50,56.60,70.80,100,120,140.160,200
RXW165A5(B5) 2,6,81012,14,16,20 24.30,32,40,42 50,56,60,70,80,100,120,140,160,200
RXW200A5(BS) 2.6,8.10,12,14,16,20 24,30,32.40,42,50,56,60,70.80,100,120,140,160,200
RXWZS0DAS 2,6.8,10,12,14,16,20 24,30,32.40,42,50,56,60,70.80,100,120,140,160,200

SJ AUTOMATION Company Catalog

59



» RTM-AS series: 1/2 - 1/10
Y IZI:III
1. Model (type of input with flange) :

RTMO45AS / RTMOT0AS / RTMO80AS |/ RTM110AS /

RTM135AS5 [ RTM135BS /| RTM165AS /| RTM200BS |/ RTM250A5
2. Gear ratios: 1/2, 1/3, 1/5, 1/10

CR: Hollow shaft with keyway
HP: Single hollow shaft without keyway
{clamping set)

HPF-K: Single hollow shaft with keyway
(clamping seat)

2HP: Double hollow shafts without keyway
(clamping set)

2HP-K: Double hollow shafts with keyway

(clamping set)

P: Single solid output shaft with keyway

2P: Double solid output shafts with keyway

RF: Hollow shaft and rotating flange

RF-K: Hollow shaft and rotating flange

3. Types of output shaft: as Fig. 1

4. Precision: as Fig. 2

5. Diameter of input flange ( ¢ d): as Fig. 3

6. Lead of input flange ( ¢ B): as Fig. 3

T. Screw hole distance in input flange (¢ C): as Fig. 3
B. Screw holes in input flange (G): as Fig. 3

Grade of backlash:

Mo marks: stand for standard backlash

= RB series — Synchronous screw lifts:

00000006006

1. Models: RBOBOAS / RB110AS / RB135AS /| RB165AS / 200BS

3. Type of transmission:

Middle-located motor drive
. Gear ratios: 1/3 - 1/50
. Ways of movement: as Fig. 2

. Effective length: as Fig. 3

-11. Bore of input shaft ¢ d,
Flange ¢ B,
screw hole ¢ Cf4-G: as Fig. 4

4
5
6. Flexible covering tube
T
8

BS: Scraw
(harizental/Rise & descend)
BST: Rise & descend with screw +
Pushing plate
JDT: Rise & descend with electric

Rl N with keyway
Precision backlash B2
= 4 arc *RTMO45AS (only P/2P available)
*Fig. 2 =Fig. 1
Dimensions of input flange :
4G
— ¥ .\:‘\ - OC = _:
5_0_o - - w—
M7 ANA s OH.
@.‘ I|'. ; If___ _\\"?'. ,,II '|© | EE— i _:Ii' __-._.;-1. — . |
B 1 1 FHet |
WA /) e N | | |
M- -.__‘t.\ \\____1__-_/,-"' :/' | :‘.I.
i . i I
N £l =

. Numbers of screw shaft: as Fig. 1

G1: Single-ghaft G1: Single-shaf
BST AHT

_, f@]
@ i

G2: 2-shaft BST G2-A: 2-shaft BST

t

G1: Single-shaft

JOT
'Eﬁ

G2: 2-shaft CR

G1: Single-shaft
BS

G2-A: 2-shaft CR

%
e

S
rﬁﬁ:

GAU-A: d-shaft JDT  G4H-A: 4-shaft

JOT  Gdl-A: 4-shaft AHT

G4-A: 4-shaft CR

60

cylinder +Pushing plate - Y
AHT: Rise & descend with piston + - #‘
flexible covering tube o
BHT: Rise & descend with screw +
flexible covering tube
CR: Multi-point rise & descend
(move with nut) L100:100(mm) *Fig. 1
+Fig. 2 roducible range 20 - 600(mm) +Fig. 3
= RT series (for Bevel gear boxes):
Helical bevel gears (gear ratio): 1/1 - 1/5
T -0-O)-@-
1 (2) (2) ()
*RT( }-01-P-L *RT( )-01-P-R *RT( 101-2P *RT( )-01-CR *R/T( )-2AX%-01-P

é[s-.;__:-

LT

SJ AUTOMATION Company Catalog 61 L



4-shaft screw lift, Electric cylinder type — Dimensions

AB
N AB
oA [ _A1D JATE
==
. 'Mﬁzg s it L R 'ﬂ 11;- o
oAd, =l AS u-Ma et A4 5
S & e o
T il X4 e
< = G
- S
= g = L
| Y
il )
= - I
3 f— ="
fFF| P
e B
e Nt
oD
o O o - =
& T Imm] fan] fas)

D4

T

ST s S S

_1._.

* Dimension on input side (depending on the selected motor)

Notes: Electric cylinder type (linear guide incorporated)
1. Diameter of ball screw (16/20/25/32)
2. Lead of ball screw (5/10/20/25/32)

3. Correct dimensions are according to 2D/3D drawings.

4-shaft screw lift, Piston type — Dimensions
A

_ A8 _ %i?
0A2 _at0_ AlZ _Am ‘ AP

J—— —— ﬁ: :-;
'I A3 i’ * 113 I{' +"I"P] |{r ']‘r 1|' |- ....E. ? g [Eﬂﬁ ;é:ll ‘{'Eﬁf’ .
|_1|n.4 _—:;.. :IAIB"’L:.’I" Ald I__"._.: g 4 X g,.. -

{7
i
e
IJ|||
:-T|‘.
11 I
gt S e
= | 1A}
— )
£
et
—-u
;
—

o T
4l 2 = e
<y et ]Ul
& {s2)

) CLph-GEEp- Fpp——erg |

] ] Il

* Dimension on input side == e e

{depending on the selected motor)

Motes: Piston type (linear guide incorporated)
1. Diameter of ball screw (16/20/25)
2. Lead of ball screw (5/10/20/25)

3. Correct dimensions are according to 2D/3D drawings.

Spec D1 D2 D3 D4 D5 A AZ A3 A4 AS AG | AT | AB
RBOBOAS- Per the
1. T 1 -M1 1 4- ‘ :
G4U-JDTTS - = Sk actual . - s AR =L e % Depanding on
RB110AS- stroke SCrew span
G4U-JDTAT 90 23 |61.5/65 Rt 97 142 74 4-M10 | 170 |4-g 8.5

Spec D1 D2 D3 D4 D5 A AZ A3 Ad AS AG | AT | AB
RBOBOAS- Per the
T 1 1. 1 4- 1 4- ! .
G4U-AHT . : — actual =k ! = — =L e % Depanding on
RB110AS- stroke screw span
GAU-AHT 90 23 |61.5/65 Rl 75 142 T4 4-M10 | 170 |4-9 8.5

62

SJ AUTOMATION Company Catalog 63




JVL
MAC MOTOR

intelligent motors

sales@jvl.dk www. jvl.dk

MAC motor®

All-in-one integrated servo motors with ePLC™, brake, multiturn

encoder and support for all Ethernet protocols

the automation bus

Etheritet/IP ‘ POWERLINK EthercAT loanus SEICOS
NIEJT ¢

Benefits of integrated motors ePLC™ embedded PLC

The benefits of integrated motors are that All JVL motors have ePLC™ built-in with
they do not take up space in the control up to 13 1O points. It enables <1 ms
cabinet, and are all-in-one units. All reactions times and can work together
electronics are combined in the same with a master PLC running Ethernet.
metal housing for high EMC safety. Graphical point-n-click programming.

Ethernet with protocol change

This unique feature gives you the flexibility
to change protocol between Profinet,
EtherNet/IP, Sercos, EtherCAT, Powerlink
and Modbus TCP/UDP on any JVL motor.
It is easy with JVL's MacTalk® software.

CANopen Q@ IO-Link = ePLC

Universal - Smart - Easy R5232

Plug-in
communcation
2-port Do Digital 10 + Al
Ethernet
switch
Controller
EMC protected
all metal housing
ePLC™
Multi-turn
absolute
encoder

Power supply
115/230 VAC

Hall sensors
Standard size

flange and shaft
3-phase brushless

servo motor

m t' z, Technology Partner
/A ROCKWELL AUTOMATION PARTNER

JVL A/S is a Danish manufacturer
founded in 1986 and is the inventor of
the integrated servo motor concept.
Our focus is on developing state-of-
the-art products for motion control.
We are proud to be a certified supplier
to the aerospace and automotive
industries.

We offer two all-in-one ranges: Servo
motors from 50 to 4500 W and
ServoStep™ motors from 0.36 to 25
Nm. All motors are designed for llot
and are Industry 4.0 ready.

intelligent motors

64

sales@jvl.dk

www. jvl.dk

\IHHU-\\’ "E JVL

I\ intelligent motors
w» °

JVL - your global partner @

JVL A/S is a Danish company with subsidiaries in Germany, UK, USA and Turkey. We have distributors and partner
companies in more than 30 countries world-wide — sales and support are always nearby.

New
MAC motor®
Integrated Servo Motor ,a_', )’ ’ :-‘? :‘
Technical specifications MAC050-A MAC095-A MAC140-A MAC140-F MAC141-F MAC402-D MAC400-D MACB800-D MAC1200-D = Unit
Supply voltage 12-48 VDC 115/230 VAC 115/230 VAC 115/230 VAC
Speed range (nominal) 0-4000 0-4000 0-4000 0-4000 0-2700 0-3000 0-3000 0-3000 0-3000 RPM
Rated power 46 92 134 134 134 400 400 746 1182 Watt
Continous torque 0.11 (15.6) 0.22(31.2) 0.32 (45.3) 0.32 (45.3) 0.48 (68) 1.28 (184.1) 1.28 (184.1) 2.38(337.1) 3.82(538.1)  Nm (oz-in)
Peak torque 0.32 (45.3) 0.62 (88) 0.9 (127.5) 0.9 (127.5) 1.59 (225.2) 3.8 (538) 3.8 (538) 6.8 (963) 11.46 (1614)  Nm (oz-in)
Rotor inertia 0.075 (0.0010) 0.119 (0.0017) 0.173 (0.0025) 0.173 (0.0025) = 0.227 (0.0032) 0.34 (0.0048) 0.34 (0.0048) 0.91 (0.0129) 1.6(0.0225) = kgem? (0z-in-s?)
Encoder resolution (std.) 4096 4096 4096 8192 4096 8192 8192 8000/8192 8000/8192 CPR
Abs. encoder (Single/Turns) - m - 8192 262143 rev 8192 +262143 rev. 8192 +8178 rev 8192 +8178 rev 8192 #8178 rev 8192 +8178rev CPR rev.
Dimensions WxHxL [mm] 57.7x57.7x111  57.7x57.7x1315 57.7x57.7x150.5 57.7x57.7x150.5 57.7x57.7x172 63x115x191 63x115x191 B84x120x174 84x120x203 mm

Dimensions WxHxL [inch] | 2.27x2.27x4.37 2.27x2.27x5.18 2.27x2.271x5.93 2.27x2.27x5.93 = 2.27x2.27x6.77  2.48x4.53x7.52  2.48x4.53x7.52 3.31x4.72x6.85  3.31x4.72x7.99 inch

Length with brake Optional external brake: MAB23X +54 (2.26) 224 (8.82) 224 (8.82) 209 (8.23) 239 (9.41) mm (inch)
Flange 57.7x57.7 (2.27x2.27) NEMA23 60x60 (2.36x2.36) 80x80 (3.15x3.15) mm (inch)
Shaft 6.35(0.25)  @6.35 (0.25) @6.35 (0.25) 96.35 (0.25) ©6.35 (0.25) @14 (@0.55) @14 (20.55) @19 (20.75) @19 (©0.75)  mm (inch)
Weight w/o module 0.55 (1.21) 0.83 (1.83) 1.1 (2.43) 1.1 (2.43) 1.32(2.91) 2.05 (4.52) 2.3(5.07) 2.9(6.39) 4.0(882)  kg(b)
Weight with brake & = = = B 2.5 (5.51) 2.8(6.17) 3.7 (8.16) 50(11.02) kg (b)
Protection class IP42 (IP67 Optional) IPS5 (IP66 Optional)

Software integration on all major platforms

SIEMENS Rexroth P e

MAC motor®

Integrated Servo Motor

Technical specifications MAG1500-D MAC3000-G MAC4500-G Unit TIA PO rta I BOSCh Group % =y
.
Supply voltage 3x400 3x400 3x400 VAC Stud [o] 5000
Speed range (nominal) 0-3000 0-3000 0-3000 RPM m
Rated power 1500 3000 4500 Watt
Continous torque 4,78 (677) 9.55(13524) 14,3 (2025)  Nm (oz-in) TwinCAT LabVIEW
Peak torque 15 (2025) 28.6 (4050) 52.3 (7406)  Nm (0z-in)
Rotor inertia 13.96 (0.0886) 27-83 (0.1719) 27.83 (0.394) kgcm? (0z-in-s?)
Encoder resolution (std.) 8192 8192 8192 CPR OmRon

Abs. encoder (Single/Turns) 8192 +8178 rev 8192 +8178rev 8192 +8178 rev | CPR tRev
Dimensions WxHxL [mm] 134x205x250 134x205x330 134x205x330 mm

Dimensions WxHxL [inch] | 5.28x8.07x9.84 5.28x8.07x12.99 5.28x8.07x12.99 inch -

Length with brake 306 (12.05) 391 (15.39) 391 (15.39) mm (inch)
Flange 130x130 (5.12x5.12) mm (inch)
Shaft ©24/0.94 @24 (20.94) 24 (20.94) mm (inch)
Weight w/o module 10.2 (22.49) 17.0 (37.48) 18.63 (41.07) = kg (Ib)
Weight with brake 13.2 (29.1) 20 (44.09) 21,63 (47.63) kg (Ib)
Protection class IP55 (IP66 optional)
Plug-in module

Etheritet/IP tg@ﬂ—ﬁsal EtherCAT™ “iiodbus SBLI.:E?‘]S POWERLINK CANOpen 352';3(2: 25}805 /’-'.:“
MAC motor®
Plugin modules )y ) ) Je
Protocol EtherNev/IP Profinet EtherCAT  Modbus TCP/UDP Sercos Pawerlink CANopen Serial Serial WiFi
Part number MACO00-El4 MACO00-EP4 MAC00-EC4 MACO00-EM4 MAC00-ES4 MACO00-EL4 MAC00-FC41 MAC00-B41 MACO00-B42 MACO00-EW4
Ethernet switch ports 2 ports
10 1Dl +1DO + 1Al 410 6l0 2AI Enc. /O 8DI4DO 1Al 4D14DO 1Al
Specs CIP /DLR Profinet 10 CANopen TCP/IP or UDP/IP Line, Ring CANopen DSP402 RS485/RS232 RS485/RS232 802.11b/g
Extended 10 Part number MAGCO00-E41 MACO0-EP41  MACO00-EC41 MAC00-EM41 MACO00-ES41 MACO00-EL41
Extended 10 4Dl + 2DO + 2Al

JVL A/S | Denmark | +45 45 82 44 40 | sales@jvl.dk | www.jvl.dk

LC0026-11GB

SJ AUTOMATION Company Catalog

65



JVL
Servo Step

sales@jvl.dk www. jvl.dk

www. jvl.dk

sales@jvl.dk
JVUL

intelligent motors
Ser\’oStep® JVL - your global partner i
JVL A/S is a Danish company with subsidiaries in Germany, UK, USA and Turkey. And we have distributors and partner

All-in-one integrated StEppEI‘ motors with ClOSEd-lOOp, ePLC, companies in more than 30 countries world-wide — sales and support are always nearby.
multiturn encoder and support for all Ethernet protocols

intelligent motors

NEMA 17

NEMA 23 I2) ® ; :‘, ’

Main motor type* MIS171 MIS173 MIS176 Mis231S MIS2328 MIS2348 MIS231T Mis232T SMCé6

Holding torque 0.18 [25) 0.40 [56] 0.78 [110] 0.97 [137] 1.97 [279] 3.08 [462] 1.16 [164] 2.53 [358] 6A Nm [Oz-In]
Resolution 409600 409600 409600 409600 409600 409600 409600 409600 409600 Counts per rev.
Supply voltage Driver 7-72 7-72 7-72 7-72 7-72 7-72 7-72 7-72 7-72 VvDC

Supply: Control + I/O 7-28 7-28 7-28 7-28 7-28 7-28 7-28 7-28 7-28 vbC

Max supply current Driver  2.9/2.0/1.3 3.3/3.2/27 28/3.0/32 51/52/5.1 44/46/4.8 35/4.1/44 6.7/63/56 59/6.1/62 6.7/6.3/62 ADCRMS
@24/48/72VDC

Nominal speed range 0.01 - 3000 0.01 - 3000 0.01 - 3000 0.01 - 3000 0.01 - 3000 0.01-3000 0.01-3000 0.01-3000 0.01-3000 RPM

Max mechanical power** 100 142 135 177 221 212 198 316 W

Rotor inertia 0.02[0.0003] = 0.054[0.0008]  0.1[0.00144] | 0.3[0.0042]  0.48 [0.0068] 0.65 [0.0092] 0.3[0.0042) 0.48 [0.0068] kg-cm2/oz-in-¢
Flange dimensions 42x42[1.7] 42x42 [1.7] 42x42 [1.7] 57x57 [2.3x2.3] 57x57 [2.3x2.3] 5757 [2.3x2.3] 57x57 [2.3x2.3] 57x57 [2.3x2.3] 42x109 mm [Inch]
Length 73.5[2.89] 85.2[3.35] 106417 | 103 [4.06] 124 [4.88] 161(6.34] 103 [4.06] 124 [4.88] 59.5 mm [inch]
Shait diameter*** @5 [0.197] 25 [0.197] @8 [0.315] 6.35[0.25]  ©6.35 [0.25] ©10[0.3937) ©6.35[0.25) ©10[0.3937] mm [inch]
Weight 0.54 [1.19] 0.68 [1.50] 0.90[1.98] 1.1[2.43] 1.4 [3.09] 2.0[4.41] 1.1 [2.43] 1.4 [3.09] 0.40[0.88] kg [Ib]
Protection class P42 (IP65 Optional)

* Rear end connectors available ** Peak power @ 72 VDC *** Other shaft types also available

NEMA 34 ;

NEMA 43 Q j ‘a :a

the automation bus

- ) e —— Main motor type MIS340 MiS341 MIS342 MIS343 MIL34 MIS430 MIS431 MIS432 SMC85
Ethenet/IP I,’ RJO Fr / POWERLINK EtherCA- ";\Madbus SEPCOS Holding torque 3.0 [425] 5.1[722] 9.0 [1274) 12.0 [1699] 2300 N 10.0 [1416] 18.7 [2648] 25.0 [3539) 9A Nm [Oz-In]
NJEJT :

Resolution 409600 409600 409600 409600 409600 409600 409600 409600 409600 Counts per rev.
Supply voltage Driver 7-72 7-72 T 7-72 7-72 7-72 7-72 7-72 7-72 VvDC
Supply: Control + I/O 7-28 7-28 7-28 7-28 7-28 7-28 7-28 7-28 7-28 VvDC
Benefits of integrated motors ePLC™ embedded PLC Ethernet with protocol change Max supply current Driver 5.0/5.2/54 56/53/59 6.0/54/61 63/57/66 | 56/53/56 66 66 6.6 66 ADC RMS
The benefits of integrated motors are that All JVL motors have ePLC™ built-in with This unique feature gives you the flexibility @24/48/72VDC
they do not take up space in the control up to 8 10 points. It enables <1 ms to change protocol between Profinet, Nominal speed range 0.01 - 3000 0.01 - 3000 0.01 - 3000 0.01-3000 0.01 - 3000 0.01-3000 0.01-3000 0.01-3000 0.01-3000 | RPM
cabinet, and are all-in-one units. All reactions times and can work together EtherNet/IP, Sercos, EtherCAT, Powerlink M mecnanical Fawse 260 288 257 2% 289 2i0 . = S W
electronics are combined in the same with a master PLC running Ethernet. and Modbus TCP/UDP on any JVL motor. Adlockerta_ 1400198 | 27{0.0362) | 4.0[09584) [ 530.0750) SR 10310:14] 151210, 2298] kg-omtioz:ing
metal housing for high EMC safety. Graphical point-n-click programming. It is easy with JVL's MacTalk® software. Flange dimensions 87x87 [3.4x3.4] B7x87 [3.4x3.4] 87x87 [3.4x3.4] 87xB7 [3.4x3.4] | 87x87 [3.4x3.4] | 110x110 [4.3x4.3] 110x110[4.3x4.3] 110x110[4.3x4.3] |  5ix116  mm [Inch]
Length 95.0 [3.74] 125.0 [4.92] 155.0 [6.10] 185.0 [7.28] 1455 [5.73] 196.5[7.74] 2475[9.74] 117 mm [inch]
Shaft diameter*** ©9.53[0.3752] @9.53[0.3752] ©14.0[0.5512] @14 [0.5512] @19 [0.748] @19 [0.748] 219 [0.748] mm [inch]
o = - ® Weight 21[45 3.1[6.9 43[9.5 5.3[11.7] 5.1[11.2] 8.9[19.6] 11.8[26.0] 0.6[1.3] kg [Ib]
CANcpen QI0-Link Bluetooti  EPLC 2= @ A @ ecktogy Pt I TN T — 22
. ARDCKWELL AUTOMATION PARTNER ** Peak power @ 72 VDC *** Other shaft types also available

2-port Ethernet switch
DHCP, ACD, DLR

Power supply

JVL A/S is a Danish manufacturer
8 x Digital 10 / Al founded in 1986 and is the inventor of

Software integration on all major platforms

7-72 VDG the integrated servo motor concept
2 Rockwell m Rexroth
Optional SIL 3 ePLC™ Our focus is on developing state-of- SIEMENS Awtomation oy OMmRrRoON
Safe Torque Off the-art products for motion control. TIA Portal Studio 5000 TwinCAT - £ LabVIEW
We are proud to be a certified supplier
Current-control Fo the gerospace and automotive
Optional IP67 (less heat) industries. JVLAS Industrial Ethernet board
shaft seal We offer two all-in-one ranges: Servo Bregneradvej 127 Controller w/ ePLC .+ RS485 —j—\ =
Closed-loop motors from 50 to 4500 W and DK-3460 Birkerad Absolute muliturn SR =
Smooth and quite ™ Denmark
ServoStep™ motors from 0.18 to 25 High torque motor.-
Multi-turn Nm. All motors are designed for llot Iz:é;g}vﬁiz Ok .
absolute encoder and are Industry 4.0 ready. www.jvi dk
NEMA size 409.600 cnt/rev vl

flange and shaft ;
Ultra high torque stepper motor

intelligent motors .y e LC0024-16GB

SJ AUTOMATION Com
66

oM
Catalog SJ AUTOMATION Company Catalog

67



AUTOMATION

(Z)IAMOI2EHI0I

http://www.sjautomation.kr/

http://blog.naver.com/spacejoum | @ : | youtube QR code
Tel: 070-7019-2514 Fax: 070-7016-2513 Email: sales@sjautomation.kr

Address: 37| OFEA| RgEAZ

36-23 25 (REs

)



